UGC NET 2021 Archaeology

Topic:- 67ARCH_A
1) The boulder conglomerate stage in Soan valley deposit was correlated to which one of the following?
(1) First glaciation (2) Second glaciation

(3) Third glaciation (4) Second interglaciation
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[Question ID = 3139][Question Description = Q01_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12019]
2. 2 [Option ID = 12020]
3. 3 [Option ID = 12021]
4. 4 [Option ID = 12022]

2) The first discovery of Ramapithecus brevirostris fossils was made by
(1) L.S.B. Leakey (2) G.E. Lewis

(3) Von Freyburg (4) Lartet
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[Question ID = 3140][Question Description = Q02_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12023]
2.2

[Option ID = 12024]
3.3

[Option ID = 12025]
4. 4

[Option ID = 12026]

3) In Kerala, the Mesolithic cultural evidence was first discovered by which one of the following archaeologists?
(1) R. Allchin (2) F. Fawcett
(3) P. Rajendran (4) K. R. U. Todd
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[Question ID = 3141][Question Description = Q03_Archaeology_SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12027]
2.2



[Option ID = 12028]
3.3

[Option ID = 12029]
4. 4
[Option ID = 12030]
4) The team of H. de Terra and T.T. Paterson had explored Narmada river around which of the following localities?

(1) Hoshangabad and Narasinghpur (2) Only Hoshangabad

(3) Only Narsinghpur (4) Narasinghpur and Maheshwar
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[Question ID = 3142][Question Description = Q04_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12031]
2. 2 [Option ID = 12032]
3. 3 [Option ID = 12033]
4. 4 [Option ID = 12034]

5) Leaf fossils were recovered from the deposit of which formation in Son Valley?
(1) Patpara formation (2) Baghor formation

(3) Sihawal formation (4) Khetauni formation
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[Question ID = 3143][Question Description = Q05_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12035]
2. 2 [Option ID = 12036]
3. 3 [Option ID = 12037]
4. 4 [Option ID = 12038]

6) The lithic tool industries of Soanian is characterized by
(1) only unifacial pebble tools

(2) only bifacial pebble tools

(3) only grounded tools

(4) both unifacial and bifacial pebble tools
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[Question ID = 3144][Question Description = Q06_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12039]
2. 2 [Option ID = 12040]
3. 3 [Option ID = 12041]
4. 4 [Option ID = 12042]

7) Who from the following has discovered the first Homo erectus fossil of skull?



(1) Robert Broom (2) Eugene Dubois

(3) Raymond Dart (4) L. S. B. Leakey

fr=AterEs 9 © e TEuYE SEisited WSt % s i EE v
(1) T 3w (2) I sIAEE

(3) TmUEER (4) = wm. ). S

[Question ID = 3145][Question Description = Q07_Archaeology_SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12043]
2. 2 [Option ID = 12044]
3. 3 [Option ID = 12045]
4. 4 [Option ID = 12046]

8) Which tribe in the Son Valley still follows the tradition of worshipping mother goddess in the form of triangular stone?

(1) Baigas (2) Kodas

(3) Musahar (4) Chenchus
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[Question ID = 3146][Question Description = Q08_Archaeology_ SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12047]
2. 2 [Option ID = 12048]
3. 3 [Option ID = 12049]
4. 4 [Option ID = 12050]

9) Mesolithic human skeletons from Loteshwar were brought to light by :
(1) Deccan College, Pune (2) M.S. University, Baroda

(3) Archaeological Survey of India (4) Gujarat State Archaeology
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[Question ID = 3147][Question Description = Q09_Archaeology_SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12051]
2. 2 [Option ID = 12052]
3. 3 [Option ID = 12053]
4. 4 [Option ID = 12054]

10) Human skeletons from Deulga Hills were excavated by :
(1) Odisha State Archaeology Department (2) Sambalpur University

(3) Archaeological Survey of India (4) Utkal University
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[Question ID = 3148][Question Description = Q10_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12055]



2. 2 [Option ID = 12056]
3. 3 [Option ID = 12057]
4. 4 [Option ID = 12058]

11) Human skeletons from Mesolithic Deulga Hills were studied by :
(1) John R. Lukas et.al (2) K. A. R. Kennedy et.al

(3) S. R. Walimbe et.al (4) B. Valentine et.al
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[Question ID = 3149][Question Description = Q11_Archaeology_ SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12059]
2. 2 [Option ID = 12060]
3. 3 [Option ID = 12061]
4. 4 [Option ID = 12062]

12) Neolithic ashmound site of Gudekallu is located in:
(1) Karnataka (2) Maharashtra

(3) Andhra Pradesh (4) Tamil Nadu
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[Question ID = 3150][Question Description = Q12_Archaeology_SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12063]
2. 2 [Option ID = 12064]
3. 3 [Option ID = 12065]
4. 4 [Option ID = 12066]

13) The remains of 92000-year old anatomically modern humans were found at
(1) Israili cave of Qafzeh (2) Kebara cave in Israil

(3) Arago cave in France (4) Klasies River mouth cave in South Africa
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[Question ID = 3151][Question Description = Q13_Archaeology_SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12067]
2. 2 [Option ID = 12068]
3. 3 [Option ID = 12069]
4. 4 [Option ID = 12070]

14) Ethnoarchaeological study of Van Vagris and Pardhis in central and western India was done by
(1) R. V. Joshi (2) V. N. Misra

(3) M. L. K. Murty (4) V. S. Wakankar
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[Question ID = 3152][Question Description = Q14_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12071]
2. 2 [Option ID = 12072]
3. 3 [Option ID = 12073]
4. 4 [Option ID = 12074]

15) Which of the following wares is not part of the Vidarbha megalithic ceramic assemblage?
(1) The black and red ware (2) The black burnished red ware

(3) The painted black-on-red ware (4) The red painted red ware
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[Question ID = 3153][Question Description = Q15_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12075]
2. 2 [Option ID = 12076]
3. 3 [Option ID = 12077]
4. 4 [Option ID = 12078]

16) Which of the following Gandhar Grave culture sites was not excavated by A.H. Dani?
(1) Butkana (2) Balambat

(3) Thana (4) Timargarha
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[Question ID = 3154][Question Description = Q16_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1

[Option ID = 12079]
2.2

[Option ID = 12080]
3.3

[Option ID = 12081]
4. 4
[Option ID = 12082]
17) From which of the following sites was an iron sickle found?

(1) Daulatpur (2) Bhagwanpura

(3) Bhorgarh  (4) Jakhera
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[Question ID = 3155][Question Description = Q17_Archaeology_ SHAAN_20NOV_S1_shift2]
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1 [Option ID = 12083]
2 [Option ID = 12084]
3 [Option ID = 12085]
4 [Option ID = 12086]

18) In which of the following years the Painted Grey Ware was first discovered?

(1) 1942-44  (2) 1947-48

(3) 1949-50  (4) 1953-54
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[Question ID = 3156][Question Description = Q18_Archaeology_SHAAN_20NOV_S1_shift2]
1.

1 [Option ID = 12087]

2. 2 [Option ID = 12088]
3. 3 [Option ID = 12089]
4. 4 [Option ID = 12090]

1.
2. 2 [Option ID = 12092]
3. 3 [Option ID = 12093]
4. 4 [Option ID = 12094]

19) Who among the following archaeologists excavated the site of Sanghol?
(1) U.V. Singh  (2) P. Singh

(3) R.C. Agrawal (4) S.S. Talwar
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[Question ID = 3157][Question Description = Q19_Archaeology_SHAAN_20NOV_S1_shift2]
1 [Option ID = 12091]

20) Who among the following archaeologists excavated the site of Brahmgiri?
(1) B.K. Thapar (2) Mortimar Wheeler

(3) M.C. Joshi  (4) K.N. Dikshit
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[Question ID = 3158][Question Description = Q20_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12095]
2. 2 [Option ID = 12096]
3. 3 [Option ID = 12097]

4. 4 [Option ID = 12098]

21) Who named the Bronze made female figurine found at Mohanjodaro as ‘dancing girl’ ?
(1) M.S. Vats  (2) John Marshall

(3) A. Cunningham (4) R.E.M. Wheelar
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[Question ID = 3159][Question Description = Q21_Archaeology_SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12099]
2. 2 [Option ID = 12100]
3. 3 [Option ID = 12101]
4. 4 [Option ID = 12102]

22) Which of the following is a settlement site?
(1) Butkana (2) Loebnar
(3) Kateli (4) Aligrama
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[Question ID = 3160][Question Description = Q22_Archaeology_ SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12103]
2. 2 [Option ID = 12104]
3. 3 [Option ID = 12105]
4. 4 [Option ID = 12106]

23) Identify among the following Gandhar Grave culture sites the cave grave site:
(1) Zarif Karuna (2) Thana
(3) Ghaligai (4) Aligrama
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[Question ID = 3161][Question Description = Q23_Archaeology_ SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12107]
2. 2 [Option ID = 12108]
3. 3 [Option ID = 12109]
4. 4 [Option ID = 12110]

24) Who among the following archaeologists discovered first the Painted Grey Ware?
(1) B. B. Lal (2) R. C. Gaur

(3) K. N. Dikshit  (4) A. Ghosh
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[Question ID = 3162][Question Description = Q24_Archaeology_SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12111]
2. 2 [Option ID = 12112]
3. 3 [Option ID = 12113]
4. 4 [Option ID = 12114]



25) Who among the following archaeologists excavated the site of Daulatpur?
(1) R.C. Agrawal (2) J.P. Joshi

(3) U.V. Singh (4) K.N. Dikshit
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[Question ID = 3163][Question Description = Q25_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12115]
2.2

[Option ID = 12116]
3.3

[Option ID = 12117]
4. 4

[Option ID = 12118]
26) Who among the following archaeologists excavated the site of Maski?
(1) U. V. Singh (2) Suraj Bhan

(3) B.K. Thapar (4) S. R. Rao
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[Question ID = 3164][Question Description = Q26_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12119]
2.2

[Option ID = 12120]
3.3

[Option ID = 12121]
4. 4

[Option ID = 12122]
27) A brick-lined sacrificial pit with bones was found at which of the following Harrappan sites?

(1) Kalibangan (2) Lothal

(3) Rangpur (4) Rakhigarhi
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[Question ID = 3165][Question Description = Q27_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12123]
2. 2 [Option ID = 12124]
3. 3 [Option ID = 12125]



4. 4 [Option ID = 12126]
28) Which of the following ceramic wares is not part of the Vindhyan Neolithic assemblage?
(1) Cord impressed ware (2) Black burnished ware

(3) Rusticated ware (4) Painted black slipped ware
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[Question ID = 3166][Question Description = Q28_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12127]
2. 2 [Option ID = 12128]

3. 3 [Option ID = 12129]
4. 4 [Option ID = 12130]

29) Which cave of Ajanta bears the inscription engraved by Vakataka King Harisena (AD 475-500)?
(1) Ajanta Cave No 17 (2) Ajanta Cave No 19

(3) Ajanta Cave No 16 (4) Ajanta Cave No 20
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[Question ID = 3167][Question Description = Q29_Archaeology_SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12131]
2. 2 [Option ID = 12132]
3. 3 [Option ID = 12133]
4. 4 [Option ID = 12134]

30) Who among the following had issued coins with date for the first time?
(1) Rudradamana (2) Jivadamana

(3) Nahapana (4) Rudrasimha
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[Question ID = 3168][Question Description = Q30_Archaeology_SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12135]
2. 2 [Option ID = 12136]
3. 3 [Option ID = 12137]
4. 4 [Option ID = 12138]

31) Which of the following coins bear the device of Gaja-Lakshmi?

(1) Chakravikrama type coins (2) Audumbara coins
(3) Uninscribed cast coins from Kausambi (4) Tribal coins of Panchala
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[Question ID = 3169][Question Description = Q31_Archaeology_SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12139]
2. 2 [Option ID = 12140]
3. 3 [Option ID = 12141]
4. 4 [Option ID = 12142]

32) Which of the following depicts the marriage scene of Siva with Parvati known as Vaivahika Murti or Kalyanasundara?
(1) Brihadeswara temple of Tanjore (2) Lingaraja Temple at Bhuvaneshvar
(3) Elephanta Relief (4) Relief at Ellora
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[Question ID = 3170][Question Description = Q32_Archaeology_ SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12143]
2. 2 [Option ID = 12144]
3. 3 [Option ID = 12145]
4. 4 [Option ID = 12146]

33) Who had issued Chakravikrama type gold coins?
(1) Chandragupta | (2) Chandragupta Il

(3) Samudragupta (4) Kumaragupta
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[Question ID = 3171][Question Description = Q33_Archaeology_ SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12147]
2. 2 [Option ID = 12148]
3. 3 [Option ID = 12149]
4. 4 [Option ID = 12150]

34) Who among the following was the first archaeologist to diocover palaeolith in India?
(1) H.D. Sankalia (2) D.N. Wadia

(3) Robert Brucefoote (4) V.Gordon Childe
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[Question ID = 3172][Question Description = Q34_Archaeology_ SHAAN_20NOV_S1_shift2]

1. 1 [Option ID = 12151]
2. 2 [Option ID = 12152]
3. 3 [Option ID = 12153]
4. 4 [Option ID = 12154]

35) The principles of stratigraphy used widely in Archaeology has been borrowed from which natural sciences?

(1) Geology (2) Environmental science



(3) Chemistry (4) Anthropology
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[Question ID = 3173][Question Description = Q35_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12155]
2.2

[Option ID = 12156]
3.3

[Option ID = 12157]
4. 4

[Option ID = 12158]
36) A label bearing sculpture representing Ashoka with his consorts has been reported from which Buddhist Stupa site?
(1) Bharhut (2) Sanchi

(3) Kanaganahalli (4) Bodhgaya
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[Question ID = 3174][Question Description = Q36_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12159]
2. 2 [Option ID = 12160]
3. 3 [Option ID = 12161]
4. 4 [Option ID = 12162]

37) Who applied electric resistivity survey method to detect underground burried structures?
(1) David L. Clark (2) R.J.C. Atikinson
(3) Robert Bruce foote (4) M.C. Burkitt
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[Question ID = 3175][Question Description = Q37_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12163]
2. 2 [Option ID = 12164]
3. 3 [Option ID = 12165]
4. 4 [Option ID = 12166]

38) Magnetized sediments volcanic lava and burnt/baked clay can be subjected to which form of dating method?
(1) Amino acid analysis (2) C14 Dating method
(3) Paleomagnetic dating (4) Fission track
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[Question ID = 3176][Question Description = Q38_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12167]
2. 2 [Option ID = 12168]
3. 3 [Option ID = 12169]
4. 4 [Option ID = 12170]

39) At which site is located one of the earliest Shivalinga in stone?
(1) Ellora (2) Elephanta

(3) Gudimallam (4) Somnath
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[Question ID = 3177][Question Description = Q39_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12171]
2. 2 [Option ID = 12172]
3. 3 [Option ID = 12173]
4. 4 [Option ID = 12174]

40) The royal portrait gallery at Naneghat cave belonged to which dynasty?
(1) Rashtrakuta (2) Satavahana

(3) Ishwakus (4) Abhiras
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[Question ID = 3178][Question Description = Q40_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12175]
2. 2 [Option ID = 12176]
3. 3 [Option ID = 12177]
4. 4 [Option ID = 12178]

41) Which of the following methods are related to absolute dating?
(A) Accelerator mass spectrometry
(B) Tephrochronology
(C) Obsidian Hydration Dating
(D) Amino Acid Dating
Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2) (A), (B) and (D) only
(3) (A), (C) and (D) only (4) (B), (C) and (D) only
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[Question ID = 3179][Question Description = Q41_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12179]
2. 2 [Option ID = 12180]

3. 3 [Option ID = 12181]
4. 4 [Option ID = 12182]

42) From which Mesolithic sites shallow querns and rubbers have been found, but no plant remains have as yet been
recovered?

(A) Bhimbetka

(B) Bagor

(C) Adamgarh

(D) Langhnaj

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (A) and (C) only

(3) (B) and (C) only (4) (C) and (D) only

FreAfeafiga fra aeaumives w9« @ fBod e siit e /avs 9F TR 3 wiiea Fis dra) 3= T8 9 T

(A)  HmEz

(B) =R

(C) =Ewe

(D) s

Hr= fzu o fepedt § @ w1 TR = i

(1) &= (A) 371 (B)
(2) = (A) #HET (C)
(3) = (B) # W (C)

(4) A (C) 3 (D)

[Question ID = 3180][Question Description = Q42_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12183]
2. 2 [Option ID = 12184]
3. 3 [Option ID = 12185]
4. 4 [Option ID = 12186]

43) The Bhimbetka paintings have been studied by which of the following scholars?
(A) F. Fawcett

(B) Erwin Neumayer



(C) Yashodhar Mathpal

(D) A.C.L Carlleyle

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (B) and (D) only

i % ot 1 Feferfiam o fagt gr s fom e 27

(A)  TE. WEHZ

(B) A =W

o]

(C)  =oew 5auTe

(D) U H. A FeAsd

Fr= fou o famedi § @ 7E SR W =EA Fifw
(1)  =ad (A) 31 (B)
(2) &9 (B) 3R (C)
(3) ¥ (C) 3% (D)
(4) ¥4 (B) 5% (D)

[Question ID = 3181][Question Description = Q43_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12187]
2. 2 [Option ID = 12188]
3. 3 [Option ID = 12189]
4. 4 [Option ID = 12190]

44) Which of the following river valleys in India where complete dated sequence of Lower Palaeolithic to the Neolithic
cultures have been found?

(A) Belan river valley

(B) Soan river valley

(C) Son river valley

(D) Pravara river valley

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only

(3) (A) and (C) only (4) (A) and (D) only

frefafes § @ fe Fd-afeat 3 fr= o & FEareT GeR 9% O Wt o T 2
(A)  soE 48 =

(B) FFE TE EE

(C) &F & gl




(1) Aol gl Hicl

Hr= f2u 7o fakeat § 9 wE 39w 99 HirA
(1) === (A) 1 (B)
(2)  FA (B) 3R (C)
(3)  FA (A) 3R (O)

(4) A (A) I D)

[Question ID = 3182][Question Description = Q44_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12191]
2. 2 [Option ID = 12192]
3. 3 [Option ID = 12193]
4. 4 [Option ID = 12194]

45) Excavated Middle Palaeolithic sites of the Son valley are :
(A) Samnapur

(B) Bataubir

(C) Dhaba

(D) Patpara

Choose the correct answer from the options given below :

(1) (B) and (D) only (2) (C) and (D) only

(3) (B) and (C) only (4) (A) and (B) only

A A % IAEHT 7S IO 96
(A)  THATE

(B) w=EER

(C) @

D) W=

I f2u T faseT § | 5 I T A
(1) == (B) 37 (D)
(2) =4 (C) 3 (D)
(3) A (B) 3 (C)
(4)  Fad (A) 3F (B)

[Question ID = 3183][Question Description = Q45_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12195]
2. 2 [Option ID = 12196]
3. 3 [Option ID = 12197]
4. 4 [Option ID = 12198]

46) The Neolithic sites situated in Uttar Pradesh are:



(A) Tokwa

(B) Imlidihkhurd

(C) Senuar

(D) Chechar-Kutubpur

Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (C) only
I UeE ° R T e A 7

(A) A
(B) suelsE @
(©) #H3=m

(D) = - Fgaw

= f2u v AT § | oE 3 @ 9E Fia
(1)  F=9 (A) 31 (B)
(2) =4 (B) 3 (C)
(3) ¥ (C) 37 (D)
(4) ¥ (A) 3 (D)

[Question ID = 3184][Question Description = Q46_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12199]
2. 2 [Option ID = 12200]
3. 3 [Option ID = 12201]
4. 4 [Option ID = 12202]

47) The microlithic non-ceramic levels were followed by Neolithic culture at
(A) Chirand

(B) Lahuradeva

(C) Kuchai

(D) Sangankallu

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (B) and (D) only

FrafafEs # 5 F=1 o W T @Y G e § 618 FEuTie S s o ?



(C) F=E

—

D) =T

= f2u o faweTt § § =9 3 T =99 Fifaw
(1) & (A) 3% (B)
(2 Fa= (B) 3 (C)
(3) == (C) ¥R (D)
(4)  F== (B) 3R (D)

[Question ID = 3185][Question Description = Q47_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12203]
2. 2 [Option ID = 12204]
3. 3 [Option ID = 12205]
4. 4 [Option ID = 12206]

48) The human skeletons from Lekhahia were studied by
(A) S.R. Walimbe

(B) P.K. Seth

(C) P.C. Dutta

(D) J.R. Lukacs

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (B) and (D) only

(3) (C) and (D) only (4) (B) and (C) only

s

fefiga o o fopmre gror o s 7

AT % WA FAl w5 HeE =

(A) um AR A
B) Ui % 3
(© . bt ==

(D) . WE. TFE

= fou 7o el | TE 3 #1999 A
(1)  FA (A) 3R (D)
(2)  FAa (B) 3% (D)
(3)  F== (C) 3k (D)

(4)  F=F9 (B) 31 (C)

[Question ID = 3186][Question Description = Q48_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12207]
2. 2 [Option ID = 12208]
3. 3 [Option ID = 12209]
4. 4 [Option ID = 12210]



49) Which of the following Harappan sites are stated to have been destroyed by fire?
(A) Kotdiji

(B) Dholavira

(C) Lothal

(D) Gumla

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (D) only

FrAfefad 5 #F @1 287 F T« 7§ Fow A2 50 qH A1 8 7

(&) s

(B) =i

(C) =

(D) e

= f2u o fasedi § @ @R TR R =EA HiA

(1)  F=F A) 3R (B)
(2) == (B) 31 (C)
(3) & (C) 3% (D)
(4)  Fa9 (A) 7T (D)

[Question ID = 3187][Question Description = Q49_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12211]
2. 2 [Option ID = 12212]
3. 3 [Option ID = 12213]
4. 4 [Option ID = 12214]

50) Which of the following tools/items are used in three-dimensional measurement during excavations?
(A) Measuring tape

(B) Scissors

(C) Pen knife

(D) Plumb bob

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (D) only
FrAfetEa § § F1 | ST /FEgeT i IaaE1 2 - S 5T § T e A 2t
(A) Ao =T

(B) =



(C) == =%

(D) o A

e fou o fomedt 9 & = 3 1 95T il
(1) a9 (A) ¥ B)
(2)  FAa (B) 3R (C)
(3)  FA (C) 3k (D)
(4)  FEF (A) 3R (D)

[Question ID = 3188][Question Description = Q50_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12215]
2. 2 [Option ID = 12216]
3. 3 [Option ID = 12217]
4. 4 [Option ID = 12218]

51) The ‘horned deity’ painted / engraved on pots and cakes of the early Harappan phase comes from which of the
following sites?

(A) Kalibangan

(B) Dholavira

(C) Kotdiji

(D) Padri

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2) (B), (C) and (D) only

(3) (A), (C) and (D) only (4) (A), (B) and (D) only

TAfeTias TUel § | ANTaS 5500 1EET % SaA A1 % W ah /i g gaa we | e 27

(&) AT
(B) g
(C)
(D) =

= fou o feepel 9 W WA I 1 999 AU
(1)  Fa (A), (B) 1 (O)
2 Fa (B). (C) 3 (D)
(3) & (A). (C) # (D)
(4)  F= (A). (B) I D)

[Question ID = 3189][Question Description = Q51_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12219]
2. 2 [Option ID = 12220]



3. 3 [Option ID = 12221]
4. 4 [Option ID = 12222]

52) At which of the following sites iron-bearing Black and Red ware level directly follows Malwa culture levels?
(A) Nagda

(B) Eran

(C) Dhanora

(D) Sonabir

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (D) only

44

(A) AT
(B) T
(C) aam
(D) HEER

fr= 20 T faseT § | mE I = A
(1)  F= (A) 3R B)
(2) A (B) 31 (C)
(3) A= (C) 371 (D)

(4)  Fad (A) W (D)

[Question ID = 3190][Question Description = Q52_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12223]
2. 2 [Option ID = 12224]
3. 3 [Option ID = 12225]
4. 4 [Option ID = 12226]

53) Which of the following sites have yielded remains of the Jorwe Chalcolithic culture?
(A) Nevasa

(B) Inamgaon

(C) Kaytha

(D) Amreli

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B), (C) and (D) only

(3) (A), (B) and (C) only (4) (A), (B) and (D) only
frafafaa 8 o 9 o T9= ¥ 14 e G5 S99 T 58 A

AN i F A,



by i b ey ok

(B) A

(C) =@
(D) s
i T U TRl | @ Rl IO R 99 I

(1) 4« (A) #iT (B)
(2) == (B). (C) 3 (D)
(3)  Fa (A), (B) #l (O)

(4)  Fa (A), (B) 3T (D)

[Question ID = 3191][Question Description = Q53_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12227]
2. 2 [Option ID = 12228]
3. 3 [Option ID = 12229]
4. 4 [Option ID = 12230]

54) Which of the following sites belong to the Ahar Chalcolithic culture?
(A) Navadatoli

(B) Balakot

(C) Gilund

(D) Balathal

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (D) only

Frfefad 5 # o T AR 710 T TEhd H gEied 27

(4) TEErEE
(B) =T
© Iz
(D) =T

= f2u o feedl | O w3 =EA i
(1) == (A) 31 (B)
(2)  Fa= (B) 3R (O)
(3) & (C) 3k (D)
(4 FAF (A) 3F (D)

[Question ID = 3192][Question Description = Q54_Archaeology_ SHAAN_20NOV_S1_shift2]



1 [Option ID = 12231]
2 [Option ID = 12232]
3 [Option ID = 12233]
4 [Option ID = 12234]

A WN -

55) Which of the following sites have yielded Painted Grey Ware levels?
(A) Daulatpur

(B) Jakhera

(C) Rangmabhal

(D) Chak-86

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only  (4) (A), (B) and (D) only

Frefafes 5 = 67 7o 7 fhe g5 g29ms % TH 5 R

(A =T
(B) w@m

(C) TmEe
(D) =86

I f2u T faweT 8§ o9 I w0 == Fian
(1) a9 (A) 3R (B)

(2) a4 (B) 37 (C)

(3) == (C) ik (D)

(4)  Fa (A), (B) 3 (D)

[Question ID = 3193][Question Description = Q55_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12235]
2. 2 [Option ID = 12236]
3. 3 [Option ID = 12237]
4. 4 [Option ID = 12238]

56) The famous bronze female figurine of 'dancing girl' found at Mohenjodaro is wearing which of the following ornaments?
(A) Bangles

(B) Necklace

(C) Ear-rings

(D) Nose-pin

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (D) only

UIEASIES] © UTH Adwhl =l Titg e Tiaa1 (=iciiad | =4 @ 319907 =1 9 §U 2 7



A& 3=

(B) FUATER
(C) =M = =

(D) =Tk = =i

I 20 T a8 | wE I w9 A
(1) == (A) 3F (B)
(2 Faa (B) 3R (C)
(3) = (C) 3% (D)
4 FAE (A) R (D)

[Question ID = 3194][Question Description = Q56_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1

[Option ID = 12239]
2.2

[Option ID = 12240]
3.3

[Option ID = 12241]
4. 4
[Option ID = 12242]
57) Who among the following numismatists advanced the theory of indigenous origin of Indian coinage?
(A) Percy Brown
(B) E. J. Rapson
(C) Neelakanta Shashtri
(D) Edward Thomas
Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (B) and (D) only

(3) (A) and (C) only (4) (B) and (C) only
frefertaa = e gemEmEt 5 9rdE EE % =R 3em o+ Hgm w oA e ?

(&) TrE FEe

(B) . H. T9EH
(C)  r=ms o

&

(D) T©sdE ¥HY

= fou e e B H w3 =9 S,
(1) =« (A) # (D)

(Y FEe (B 2T (D)



(3)  =ae (A) 3R (C)

(4)  Fa« (B) 317 (C)

[Question ID = 3195][Question Description = Q57_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12243]
2. 2 [Option ID = 12244]
3. 3 [Option ID = 12245]
4. 4 [Option ID = 12246]

58) Which two of the following inscriptions make clear reference to Kahapana i.e. punch-marked coins?
(A) Nasik cave inscription of Vasisthiputra Pulamavi

(B) Nanaghat cave inscription of Naganika

(C) Nasik cave inscription of Gautamiputra Satkarni

(D) Nasik cave inscription of Usavadatta

Choose the correct answer from the options given below :

(1) (B) and (C) only (2) (A) and (C) only

(3) (B) and (D) only (4) (C) and (D) only
freferfiga = == o 31 sifyeal § w=m= (31) 2ed famw #1 w9 g e 27

(A) =il g geETE w5 i T At
(B) AT 1 AETER TR ATE

(D)  TuFed 1 AMEE TE A

= f2u 7o faseul | O OE 3 F 99 iAo
(1) =4 (B) 3 (C)
(2) a9 (A) 3R (C)
(3) ¥ (B) i (D)
(4  F=4 (C) 3% (D)

[Question ID = 3196][Question Description = Q58_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1

[Option ID = 12247]
2.2

[Option ID = 12248]
3.3

[Option ID = 12249]
4. 4
[Option ID = 12250]
59) Whish two of the following coins are examples of solitary coin in the Bayana Hoard?

(A) Asvamedha type gold coins

(B) Horse Rider type coin of Kumaragupta |



(C) Chakravikrama type gold coins
(D) King and Queen type coins of Kumaragupta |
Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (B) and (C) only
(3) (A) and (B) only (4) (C) and (D) only
fretfeifaa § @ =i 2 oF fires 7 f5eh == 2S5 arehen A9 2 7
(A)  ATIHE UHE % T
(B)  FAUMH F ATANA THE F THH
(C)  =wia%| TN % =0 fHH

(D)  THHWIH UUH F T TH T F

fr= fau o fabedi | 9 @@ ST == Fif
(1)  Fa (A) A (D)
(2)  #Aa (B) #R (C)
(3) = (A) #F (B)
4)  F=4 (C) 3 (D)

[Question ID = 3197][Question Description = Q59_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12251]
2. 2 [Option ID = 12252]
3. 3 [Option ID = 12253]
4. 4 [Option ID = 12254]

60) Which two of the following inscriptions do not refer to the performance of Asvamedha sacrifice?
(A) Basim copper plate inscription of Vindhyasakti
(B) Allahabad Pillar inscription of Samudragupta
(C) Mehrauli Iron Pillar inscription
(D) Ayodhya inscription of Dhanadeva
Choose the correct answer from the options given below :
(1) (A) and (B) only (2) (A) and (C) only
(3) (B) and (C) only (4) (C) and (D) ony
(A) fasamts w1 wdfm 9 o= e
(B)  THZTH F1 SoEW0E WY o
(C) ==l =

(D) 9% 1 A A



= Tou U faFeT B ° HE SO R =99 i
(1) == (A) 57 (B)
(2)  hae (A) =1 (C)
(3)  Fa= (B) 3R (O)

(4)  =Had (C) 3R (D)

[Question ID = 3198][Question Description = Q60_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12255]
2. 2 [Option ID = 12256]
3. 3 [Option ID = 12257]
4. 4 [Option ID = 12258]

61) Lord Shiva is associated with the killing of which of these asuras?
(A) Gajasura

(B) Hiranyaksha

(C) Andhakasur

(D) Kakasur

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only (2) (A) and (C) only

(3) (A), (B) and (C) only (4) (B) and (D) only

Wi o 39 3 | e gEn & wy geiad 7 7

(A) T
(B) T

Hie {30 U faheqi § § @E 3 1 =99 i
() F= (A). (B) # (D)

(2 FAF (A) IR (C)

3  Fa (A). (B) i (C)

(4) = (B) #R (D)

[Question ID = 3199][Question Description = Q61_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12259]
2. 2 [Option ID = 12260]
3. 3 [Option ID = 12261]
4. 4 [Option ID = 12262]

62) The common mudras noticed in the hands of seated Buddha image are:
(A) Suchi mudra

(B) Dharmachakra Pravartana mudra



(C) Bhumi sparsh mudra

(D) Abhaya mudra

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (B) and (C) only

(3) (A), (B) and (C) only (4) (B), (C) and (D) only

I3 70 §g i Wi F Fi § 2@ T o g wA-wE T A 7

@& T
(B) o wHTAT g2

(C)  gigesst gz

(D) EER Gl

= fm T fopeai | 9 TE I == i
(1) =& (A) AR (D)

(2 FAE (B) 3R (C)

(3)  F== (A), (B) ¥ (O)

(4)  Fa9 (B). (C) 311 (D)

[Question ID = 3200][Question Description = Q62_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12263]
2. 2 [Option ID = 12264]
3. 3 [Option ID = 12265]
4. 4 [Option ID = 12266]

63) Monolithic rock-cut temples in Dravidian style are noticed at
(A) Ajanta

(B) Ellora

(C) Mahabalipuram

(D) Kazugumalai

Choose the correct answer from the options given below :

(1) (A), (B), (C) only (2) (B), (C) and (D) only

(3) (A) and (D) only (4) (A) and (C) only

afars Sieht % v ForeeEm HiE 2E T A ?

(A)  T=E
(B) uEm
(C)  TEmEeTy



41 fau o fompeat § @ oA T = i
(1) === (A). (B). (C)

(2)  FAd (B). (O) 1 (D)

(3)  FA (A) 7 (D)

(4) == (A) FE(C)

[Question ID = 3201][Question Description = Q63_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12267]
2. 2 [Option ID = 12268]
3. 3 [Option ID = 12269]
4. 4 [Option ID = 12270]

64) Stupa with wheel shaped plan has been noticed from the sites of
(A) Sanchi

(B) Sanghol

(C) Bharhut

(D) Taxila

Choose the correct answer from the options given below :

(1) (A) and (C) only (2) (B) and (D) only

(3) (B) and (A) only (4) (A), (B) and (C) only

ufew % HPFATe T9 ® @ B 3 Tl F IE T R

(A ==
(B) ==
(C) e

(D) @A

= 5w 1o fashedt | | wE S W 9= i
(1)  Fa (A) 31 (C)

(2)  F&E (B) 3R (D)

(3)  F= (B) 31 (A)

(4) == (A). (B) 7 (C)

[Question ID = 3202][Question Description = Q64_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12271]
2. 2 [Option ID = 12272]
3. 3 [Option ID = 12273]
4. 4[Option ID = 12274]

65) lIdols of Vishnu’s Varaha incarnation has been noticed at :

(A) Udayagiri



(B) Eran

(C) Khajuraho

(D) Ajanta

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2) (A), (B), and (D) only

(3) (D) and (A) only (4) (B) and (C) only

T2 % = srEaw =i wfem oEf T 2

(A)  FEEmR
(B)y T
(©) T
(D) @A

it fau o el § © wE IO #1999 A
() F= (A), (B) 3 (O)

(2)  F= (A), (B) ¥R (D)

(3) = (D) = (A)

(4)  Fa« (B) 3 (C)

[Question ID = 3203][Question Description = Q65_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12275]
2. 2 [Option ID = 12276]
3. 3 [Option ID = 12277]
4. 4 [Option ID = 12278]

66) Match List | with List Il

List | List Il

Formations Cultures
(A) Sihawal formation ) Mesolithic
(B) Patpara formation (Il)  Upper Palaeolithic
(C) Baghor formation (lll) Middle Palaeolithic
(D) Khetaunhi formation (IV) Lower Palaeolithic

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(lln), (C)-(1V), (D)-(1)
(2)  (A)-(lm), (B)-(IV), (C)-(1), (D)-(I)
(3)  (A)-(IV), (B)-(1), (C)-(ID), (D)-(11)
(4)  (A)-(V), (B)-(lln), (C)-(1n), (D)-(1)

w11 @1y geii-I1 1 faem i
i1 I
ECIE] HEFIA

(A) ToEE= 59 @D =T



(B) w29zt 99— (IT) == g

(C) =mER wuE (III) == ST
(D) wdtel sHE (IV) =1 g
e fau T famoat 4 & w8 I R wEq Hit

1y (A)-aD. (B)-(1D). (C)-aV). (D)-(D
2  A-dID. (B)-IV). (O)-@). (D)-AD)
3 A-AV). (B)-D. (C)-(D. (D)-(IIT)
@  @-av). (B)-1D. (O)-ID. (D)-(D)

[Question ID = 3204][Question Description = Q66_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1

[Option ID = 12279]
2.2

[Option ID = 12280]
3.3

[Option ID = 12281]
4. 4

[Option ID = 12282]

67) Match List | with List I

List | List Il
(Deposits of Soan valley) (Tools)
(A) Terrace - 1 (T1) ) Prepared striking plate form
(B) Terrace -2 (T2) ()  Evolved Soan
(C) Terrace - 3 (T3) (Ill) No prepared striking plate form
(D) Terrace -4 (T4) (IV) No tools

Choose the correct answer from the options given below :
(1 (A)-(1m, (B)-(IV), (C)-(), (D)-(IN)
(2)  (A)-(1m, (B)-(1), (C)-(IV), (D)-(IN)
(3)  (A)-(), (B)-(1), (C)-(1V), (D)-(1)
(4)  (A)-(1V), (B)-(ln), (C)-(1), (D)-(In)

TH-1 % |19 F=A-I 7 e i
=1 Ercisi |
(A) afE-l (Fh) @) i = =
(B) w2 (F) (I) Terntea =@
(C) =fz#w1-3 (Fha) (IID) =fAfHa Ter
(D) afzFr4 (F) (IV) =i ST TH
= fau o foekedi § = wF SR F = Fifae

(1 A-dID. (B)-IV). (O)-D. (D)-aD)
2y (A)-aID. (B)-(D. (C)-(IV). (D)-(ID)
(3 (A)-aD. (B)-II). (C)-aV). (D)-(D)
4  (A-aV). (B)-D). (O)-@. D)-ID



[Question ID = 3205][Question Description = Q67_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12283]
2.2

[Option ID = 12284]
3.3

[Option ID = 12285]
4. 4

[Option ID = 12286]

68) Match List | with List Il
List | List Il

(A) Sustained exploration in central
| K. Paddayya
India and Rajasthan 0 vy
(B) Kurnool lime stone hills (1) V. N. Misra
(C) Neolithic cattle pen ()  M.L. K. Murty

(D) Periodic congregation of
Neolithic people at major ash mounds (IV) Raymond Allchin
from neighbouring smaller sites

Choose the correct answer from the options given below :
(1 (A)-(D, (B)-(IV), (C)-(1ln), (D)-(In)
(2)  (A)-(V), (B)-(1), (C)-(1n), (D)-(In)
(3)  (A)-(), (B)-(1n), (C)-(1V), (D)-(1)
(4)  (A)-(lm), (B)-(I1), (C)-(1), (D)-(IV)

F1-1 % =g gH1-11 #1 faes fifaw
T TA-II
(A) HEA 9A AT T d HEA HAE0 (@ . w3
(B) et olzH =M faom (I =t 7. T
(C) = "TIfors g91-are (III) ©w. 74, F g

(D) uHvEH] B2 T © WS T % A o wen  (IV) THUs seEe
T AT AE W WA HTHE

F= T e feepestt B & @ S B T A

(1) (A)-@). B)-(IV), (C)-(I1), (D)(IL)

(2)  (A)-AV). (B)-(D). (C)-III), (D)-(IT)

(3 A-an. (B)-aD. (C)-aV). MDD

(4 (A)-ID). (B)-(ID). (C)-(D. (D)-(IV)
[Question ID = 3206][Question Description = Q68_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1

[Option ID = 12287]
2.2

[Option ID = 12288]
3.3

[Option ID = 12289]
4. 4

[Option ID = 12290]

69) Match List | with List I
List | List Il

Sites Excavator



(A) Senuwar ) J.D. Clark and G. Khanna

(B) Jhusi (Il) Rakesh Tewari
(C) Kunjhun Il () B. P. Singh
(D) Lahuradeva (IV) V. D. Misra

Choose the correct answer from the options given below :
(1) (A)-(ln), (B)-(IV), (C)-(1), (D)-(I)
(2)  (A)-(I), (B)-(1), (C)-(IV), (D)-(1ln)
3)  (A)-(D, (B)-(I), (C)-(li), (D)-(IV)
(4)  (A)-(V), (B)-(lln), (C)-(1), (D)-(1)

-1 % =19 G-I 1 e Fifaw
=11 LI
T S
(A) TFI @O . 1. o A, =
®) I D = far
(C) F7gA II (IIT) =, 1. &=
(D) = av) . 4. fam

= fau v Tt | ® gE S 95 ife

(1)  (A)-AID. (B)-(IV). (O)-@). (D)-(ID
(2)  A-dDn. B)-@. (O)-0V), (D)-dID
(3  A-O. B)-1D). (O)-(IID. (D)-IV)
4 A-aV). (B)-(ID). (C)-AD). (D)-(D

[Question ID = 3207][Question Description = Q69_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12291]
2.2

[Option ID = 12292]
3.3

[Option ID = 12293]
4. 4

[Option ID = 12294]

70) Match List | with List I

List | List Il
(A) Born for Archaeology (0] B. Subbarao
(B) Analytical Archaeology () Gordan Childe
(C) Man Makes himself (Ill) H.D. Sankalia
(D) Personality of India (IV) David L. Clark

Choose the correct answer from the options given below :
(1) (A=, (B)-(1), (C)-(1V), (D)-(1N)
(2)  (A)-(D, (B)-(I1), (C)-(IV), (D)-(lln)
(3)  (A)-(I, (B)-(1), (C)-(n), (D)-(IV)
(4)  (A)-(1n), (B)-(1V), (C)-(I1), (D)-(1)

T=1-1 % o7y G-I 7 foers Fifem .



(A) = B AT I . geawE

(B) vwATIcTiemel SAThatetis| (I) Tisq =Ees

(C) 4 Hog feomew (IID) w=r. =1 ArwfeE

(D) SHATZl #T ST (IV) =fbs va. =6
a1 fau o famedi 5 ® w5 3 1 999 il

(1) (A)-aID. (B)-(D). (O)-(IV). (D)-(ID)
@ (A-@. B)-ID). (O)-IV), (D)-(IIL)
(3)  (A-ID). (B)-D. (O)-(IID). (D)-IV)
@  (A-AID. (B)-IV), (O)-aDh. (D)-(D

[Question ID = 3208][Question Description = Q70_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12295]
2.2

[Option ID = 12296]
3.3

[Option ID = 12297]
4. 4

[Option ID = 12298]

71) Match List | with List Il

List | List Il
(A) Golbai Sasan ) Mandakini valley
(B) Narhan (Il) Ghaghra valley
(C) Sonepur ()  Yamuni valley
(D) Pandu Rajar Dhibi (IV) Ajay

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(1), (C)-(I), (D)-(1)
(2)  (A)-(D, (B)-(IN, (C)-(1n), (D)-(IV)
(3)  (A)-(ln), (B)-(IV), (C)-(1), (D)-(I)
4 (A)-(), (B)-(h, (C)-(1V), (D)-(li)

H-1 % A g1 # e Fifw
71 -
(A) T TEH (D == e
(B) = (D) == =2
(© Fm (D) = =
(D) Tmvg e feE (IV) =154

Hie 35U Tu fashedi 9 | EE SR 0 =E i

(1) (&)-aV), (B)-@ID), (C)-aD, (D)-(D
@  (@A-0. ®)-0D. (C)-aD, (D)-aV)
(3)  (A)-ID). (B)-IV). (C)-(D), (D)-(ID



@  (A)-ID. B)-(D. (C)-(IV), (D)-(1I)

[Question ID = 3209][Question Description = Q71_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1

[Option ID = 12299]
2.2

[Option ID = 12300]
3.3

[Option ID = 12301]
4. 4

[Option ID = 12302]

72) Match List | with List Il

List | List 1l
(A) Dabar Kot ) Loralai valley
(B) Saraikhola () Indus valley
(C) Jalilpur (lll) Ravi and Chenab valley
(D) Ganweri wala (IV) Hakra valley

Choose the correct answer from the options given below :
(1) (A)-(D, (B)-(IN, (C)-(i), (D)-(IV)
(2)  (A)-(I), (B)-(lN), (C)-(IV), (D)-(1)
(3)  (A)-(ln), (B)-(IV), (C)-(1), (D)-(I)
(4)  (A)-(IV), (B)-(1), (C)-(ID), (D)-(1Im)

A1 % =1 g=h-11 1 frem s
Gl I
(&) = FE M s =
(B) T (I fay =
(C) efterg (IID) et =1 ==me =t
(D) THHEE (IV) = =red

= fau o el § 9§ T I w1 999 Fiew

1 (A0, B-1D. (O-IID. (D)-IV)
2)  (A)-aD. (B)-IID). (C)-IV). (D)-(D
(3)  (A-UID. (B)-IV). (O)-(@). (D)-(ID)
@  (A-av). B)-D. (C)-d). (D)-I1L)

[Question ID = 3210][Question Description = Q72_Archaeology_SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12303]
2.2

[Option ID = 12304]
3.3

[Option ID = 12305]
4. 4

[Option ID = 12306]

73) Match List | with List Il
List | List Il



(A) Ahar ) Kapitthak

(B) Kayatha (I1) Tapi valley
(C) Nagda (lll) Banas valley
(D) Diamabad (IV) Chambal valley

Choose the correct answer from the options given below :
(1 (A)-(V), (B)-(I), (C)-(1), (D)-(lI)
(2)  (A)-(1m), (B)-(1), (C)-(IV), (D)-(IN)
3)  (A)-(), (B)-(1), (C)-(1), (D)-(IV)
(4)  (A)-(D), (B)-(IV), (C)-(11), (D)-(1N)

F=t-1 % @y g1 = T Fifae .

I FHHI
(A) IER @M HaF
(B) == (II) =T =
(C) =rm= (I1T) A T
(D) =EEER IV) ==« =@l
f= fu o faweat § ® TE 3w = il

(L (A-aV). (B)-a). (C)-(D, (D)«I1I)
2y  (A)-dID. (B)-D. (O)-a1V), (D)-(ID)
(3)  (A)-AD. (B)-aII). (C)-(D. (D)-dV)

4  A-O. B)-IV), (C)-(1IL). (D)-1I)
[Question ID = 3211][Question Description = Q73_Archaeology_SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12307]
2.2

[Option ID = 12308]
3.3

[Option ID = 12309]
4. 4

[Option ID = 12310]

74) Match List | with List Il

List | List Il
(A) Asvamedha type Coins ) Chandragupta |
(B) Chakravikrama type coins ()  Samudragupta
(C) Apratigha type coins (lll) Chandragupta Il
(D) King and queen type coins (IV) Kumaragupta |

Choose the correct answer from the options given below :
(1 (A)-(V), (B)-(I), (C)-(1), (D)-(lI)
(2)  (A)-(), (B)-(1n), (C)-(1V), (D)-(1)
(3)  (A)-(1m), (B)-(1), (C)-(IV), (D)-(IN)
(4 (A)-(1v), (B)-(ln), (C)-(1), (D)-(1)

i1 #el-11



(A) FvEHYE THE F 0% O ==mI

(B) =riasem T F T (I) =9z7H
(C) HAidT TFE =+ T (III) === II
(D) T HIT T U % (IV) #FarE I

1= Tou U e | WE SO R 9 i

(1) ((A-IV). (B)-D). (C)-(D, (D)-(I1IT)
(2)  (A)-dD. (B)-aII). (CO)-IV), (D)-D
(3)  (A)-AID. (B)-[D. (O)-(1V). (D)-(ID)
@  (A-aV), (B)-1D. (O)-1D). (D)-1@)

[Question ID = 3212][Question Description = Q74_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12311]
2.2

[Option ID = 12312]
3.3

[Option ID = 12313]
4. 4

[Option ID = 12314]

75) Match List | with List I

List | List Il
(A) Martand temple 0] Shiva
(B) Somnath Temple () Soorya / sun
(C) Badrinath Temple () Brahma
(D) Jagatpita Temple (IV) Vishnu

Choose the correct answer from the options given below :
(M (A)-(D, (B)-(I), (C)-(li), (D)-(IV)
(2) (A1), (B)-(1), (C)-(I1), (D)-(1V)
(3)  (A)-(I, (B)-(1), (C)-(IV), (D)-(lln)
(4)  (A)-(IV), (B)-(D), (C)-(11), (D)-(1N)

Fefi-1 % A g1 e Fifsw
T LI
(A) WS Hf @ P
(B) @im mim I =
(C) =gMm AfE (ILL) w=m
(D) =t =t @) fam

= fau o feReT H O HE 3 o =9 hifA

(1) (A)-O. B)-1I). (O)-(IID. (D)-IV)
(2)  @-dD. (B)-1). (CO)-ID. (D)-IV)
(3)  (A-ID. B)-(D. (C)-(IV). (D)-(IT)

AN FAY STET /DYy /Ty A" JTITITy ATy A TT



LS NELIER R AT AR R RS

[Question ID = 3213][Question Description = Q75_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12315]
2.2

[Option ID = 12316]
3.3

[Option ID = 12317]
4. 4

[Option ID = 12318]
76) Arrange the following human species in correct chronological order :
(A) Homoerectus boy from Narikotome
(B) Zinjanthropus Boisei or ‘Zinj’
(C) Black skull found on lake Turhana’s western shore
(D) Neandertals
(E) Laetoli foot prints
Choose the correct answer from the options given below :
(1) (E), (C), (B), (A), (D) (2) (A), (C), (B), (E), (D)

(3) (B), (E), (A), (D), (C) (4) (D), (A), (B), (C), (E)
(A) FAFREE ° EEEGeE "
(B)  ToamwE s Auan s

(C)  ToT i = wfvadl A ® O T i e

[

(D) HOTETZA

(E) <=t ==

/= fou U fEEeT § | " 39 1 999 S

(1) (E). (C). (B). (A). (D)
(2) (A). (C). (B). (E). (D)
(3) (B). (E). (A). (D). (C)
(4) (D). (A). (B). (C). (E)
[Question ID = 3214][Question Description = Q76_Archaeology_SHAAN_20NOV_S1_shift2]

1.1

[Option ID = 12319]
2.2

[Option ID = 12320]
3.3

[Option ID = 12321]
4. 4
[Option ID = 12322]

77) Arrange the following sites in chronological sequence

(A) Jwalapuram



(B) Attirampakkam

(C) Mehtakheri

(D) Ismpur

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) (2) (D), (C), (B), (A)

(3) (B), (D), (A), (C) (4) (A), (C), (D), (B)

FreAfeafias T +1 FHAIEN w0 sFaiedd i

(A) TR

(B) STHIES
(C)  T=amEd

D) =EER

Hi= fou 1o faseul | © TE 3 F 999 i

(L A).®B).(C). D)
2 D). (©). B). A
3  (B). D). @A), (©
4 A.(O).D. B

[Question ID = 3215][Question Description = Q77_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12323]
2. 2 [Option ID = 12324]
3. 3 [Option ID = 12325]
4. 4 [Option ID = 12326]

78) Arrange the following life forms on earth in ascending order on the basis of geological time scale :
(A) Dinosaurs

(B) Amphibians

(C) Fishes

(D) Pongids

Choose the correct answer from the options given below :

(1) (D), (B), (C), (A) (2) (A), (D), (B), (C)

(3) (C), (B), (A), (D) (4) (B), (C), (D), (A)

FrfefEa S| SR F IS W - g A6 F SR W OARE F0 ° =Etegy fie
(A) SEAER
(B) IO

(C) LEIERI

(D) s



= fou 7o foepeai 9 © wE I 1 == it

(1 @D. B. (). A
@ Q). D). ®.(©C)
(3 (0. (B). A). (D)
@ (B).©C). M. A

[Question ID = 3216][Question Description = Q78_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12327]
2.2

[Option ID = 12328]
3.3

[Option ID = 12329]
4. 4
[Option ID = 12330]
79) Arrange the following European cultures in chronological order :
(A) Azilian
(B) Abbevilian
(C) Solutrean
(D) Mousterian
Choose the correct answer from the options given below :
(1) (D), (B), (C), (A) (2) (A), (D), (B), (C)

(3) (C), (B), (A), (D) (4) (B), (C), (D), (A)

Frefafan g 1 gepiaat =i FremagEn =awgy Fiw

(A) T

(B) sEfEeEa

(C)  ==afemA

(D) HiEEfEA

H= 50 U faeTi 8 ° o 3w == i

(1) D). (©C). B). (A)
2 B.A.©C). D
(3 (B).(D). (O). A
4 (C). &) (B). D)

[Question ID = 3217][Question Description = Q79_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1

[Option ID = 12331]
2.2

[Option ID = 12332]
3.3

[Option ID = 12333]



4. 4

[Option ID = 12334]
80) Arrange the following pottery shapes in chronological order :
(A) Dish -on - stand with drooping rims
(B) S-shaped jar
(C) Lota - shaped vase
(D) Corrugated bowl
Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) (2) (B), (A), (C), (D)

(3) (C), (B), (D), (A) (4) (D), (C), (A), (B)

FIEd 9aATs # ATHNl i FIAHATAT TG E0q HIA0,

(A)  F T AR Al araw I A
(B) TH IR F AR
(C) EemE adq

(D)  AiER w2

Hi= f2u U fahedt B ® W IO W =Ee it
(1)  (A).(B).(©). D
2 (B).A.©),D
(3) (C). (B), (D). (&)

@ (D). A (B

[Question ID = 3218][Question Description = Q80_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12335]
2. 2 [Option ID = 12336]
3. 3 [Option ID = 12337]
4. 4 [Option ID = 12338]

81) Sequence the following Buddhist chaitya halls according to architectural developments noticed in them.
(A) Bedsa

(B) Karle

(C) Nashik

(D) Bhaja

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) (2) (D), (C), (B), (A)

(3) (D), (C), (A), (B) (4) (D), (A), (B), (C)

(A)  w=E



By =
(C) A=

(D) 4w

= fau U fareTt 0 W HE 3 R =999 hifa

(1) (A B). (). D
2 @D.(©C).®). &)
(3) (D). (©).(A). (1B

@ D). @A). 3.

[Question ID = 3219][Question Description = Q81_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12339]
2. 2 [Option ID = 12340]
3. 3 [Option ID = 12341]
4. 4 [Option ID = 12342]

82) Chronologically sequence the following well known inscription
(A) Allahabad pillar inscription of Samudragupta

(B) Tiruvalangad copper plates of Rajendrachola

(C) Junagadh inscription of Rudradaman

(D) Aihole inscription of Pulkesin Il

Choose the correct answer from the options given below :

(1) (D), (B), (C), (A) (2) (C), (A), (D), (B)

(3) (A), (B), (C), (D) (4) (D), (A), (B), (C)

(A) TUZIH F TEEER T Ay

(B) TrsegHEe 1 fqeaeT dTE O

(C)  TZamA = AFR Afved

(D)  gerhiEe 11 veie sAfiae

i1 f3u o feeedl @ © =AW =E i

(1 @D. 3. (). &)
@  (©).A). D). ®)
(3)  @A). B, (C). (D)

@ (D). A).[.(©)

[Question ID = 3220][Question Description = Q82_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12343]
2. 2 [Option ID = 12344]
3. 3 [Option ID = 12345]
4. 4 [Option ID = 12346]

83) Chronologically sequence the Director Generals of Archaeological Survey of India



(A) John Marshall

(B) Alexander Cunnigham

(C) Mortimer Wheeler

(D) James Burgess

Choose the correct answer from the options given below :
(1) (B), (A), (D), (C) (2) (A), (B), (C), (D)

(3) (D), (C), (A), (B) (4) (D), (C), (B), (A)

R [ard FA& F WETHeTH] F FewaTar Saega Fifa, ;

(A) = =EE
(B)  TUeiSS HEH
(C)  wiew =Fre

(D) == =4

= 2 o e 1§ 98 I w1 999 Fiew

D B. @. D). ()
2 @A.3.(©). D)
3 [D).(C). A). B
@ D). (C).B). &

[Question ID = 3221][Question Description = Q83_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12347]
2. 2 [Option ID = 12348]
3. 3 [Option ID = 12349]
4. 4 [Option ID = 12350]

84) Arrange the following inscriptions in chronological order
(A) Aphsad stone pillar inscrition of Aditya Sen

(B) Deopara stone inscription of Vijayasena

(C) Deo Barunaraka stone inscription of Jivitagupta

(D) Nalanda copper plate of Yashovarm Dev

Choose the correct answer from the options given below :
(1) (B), (A), (C), (D) (2) (A), (C), (B), (D)

(3) (A), (C), (D), (B) (4) (B), (A), (C), (D)
v st a— e i

(A) TR 1 ATEE T WY STieE

(B)  Ta=m=Ea = FEurs amm A

(C)  Shifadmm #1 53 54 T sifierg

STy SRS TP o R e Iy SR A N S S



A NIRRT gt A ARG A A

i fou v faehewi 9§ WA 3 1 9= AT

(1 B.A). (). D)
2 @, ). [®B. D)
(3) @.(©), @M. B
(4) (B). (A). (C). (D)

[Question ID = 3222][Question Description = Q84_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12351]
2. 2 [Option ID = 12352]
3. 3 [Option ID = 12353]
4. 4 [Option ID = 12354]

85) Arrange the following inscriptions in chronological order
(A) Eran stone pillar inscription of Bhanugupta

(B) Karmadanda stone pillar inscription

(C) Saranatha Buddhist stone image inscription

(D) Khoh copper plate inscrition of Sankshobha

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) (2) (B), (C), (D), (A)

(3) (C), (D), (A), (B) (4) (D), (B), (C), (A)

(A)  WETH T TR WY W
(B)  FHIET T W @@
(C) =W §g W qid #Afied

(D) =AY F1 GiE aHE Alged

e T2 U TR | ® ORI R =EA hIb

(1) (A). (B). (C). (D)

(2) (B). (C). (D), (A)

3) (O.D).A. B

(4) (D). (B). (C). (A)
[Question ID = 3223][Question Description = Q85_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12355]
2. 2 [Option ID = 12356]

3. 3 [Option ID = 12357]
4. 4 [Option ID = 12358]

86) Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion (A) : The specific details of human origins will probably always remain locked in the geological part.

Reasons (R) : Anthropologists and biologist have provided us with a well documented and highly illuminating sketch of the
human career over the last four million.



In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A) (2) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(3) (A) is true but (R) is false (4) (A) is false but (R) is true
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[Question ID = 3224][Question Description = Q86_Archaeology_ SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12359]
2. 2 [Option ID = 12360]
3. 3 [Option ID = 12361]
4. 4 [Option ID = 12362]

87) Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion (A) : The Neolithic culture marked the transition in human history from nomadic people of hunter-gatherers to a
sedentary life of agricultural settlements.

Reasons (R) : In Holocene period temperature was increased.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A) (2) Both (A) and (R) are correct but (R) is NOT
correct explanation of (A)

(3) (A) is correct but (R) is incorrect (4) (A) is correct but (R) is correct
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[Question ID = 3225][Question Description = Q87_Archaeology_SHAAN_20NOV_S1_shift2]
1 [Option ID = 12363]
2 [Option ID = 12364]
3 [Option ID = 12365]
4 [Option ID = 12366]
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88) Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion (A) : Majority of the Jorwe culture settlements are small in size and none of them could attain the stage of
urbanisation.

Reasons (R) : The natural setting of the region was good enough to offer good opportunities for growth.
In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A) (2) Both (A) and (R) are correct but (R) is not
correct explanation of (A)

(3) (A) is correct but (R) is not correct (4) (A) is not correct but (R) is correct
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[Question ID = 3226][Question Description = Q88_Archaeology_ SHAAN_20NOV_S1_shift2]
1 [Option ID = 12367]
2 [Option ID = 12368]
3 [Option ID = 12369]
4 [Option ID = 12370]
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89) Given below are two statements :

Statement (l) : The first reference to the punch marked coins (Kahapan) is found in the Nana ghat cave inscription of
Naganika.

Statement (Il) : Because the state was in the need of coined money to promote trade.
In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true (2) Both Statement | and Statement Il are false

(3) Statement | is true but Statement Il is false (4) Statement | is false but Statement Il is true
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[Question ID = 3227][Question Description = Q89_Archaeology_ SHAAN_20NOV_S1_shift2]
1 [Option ID = 12371]
2 [Option ID = 12372]
3 [Option ID = 12373]
4 [Option ID = 12374]
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90) Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion (A) : Ashokan inscriptions in Greek - Aramic and Kharoshiti are found largely from Kandahar and North - West
Frontier (Pakistan)

Reasons (R) : These areas were under the sway of Mauryan empire and had Greeck and Aramic knowing populace
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A) (2) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(3) (A) is true but (R) is false (4) (A) is false but (R) is true
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[Question ID = 3228][Question Description = Q90_Archaeology_SHAAN_20NOV_S1_shift2]
1 [Option ID = 12375]
2 [Option ID = 12376]

3 [Option ID = 12377]
4 [Option ID = 12378]
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Topic:- 67ARCH_B
1) Read the given passage and answer the question that follow:

The archaeologists normally expect the botanists to build up the model of the beginnings of agriculture. It is often difficult
to identify wild ancestors with confidence and to reconstruct the conditions under which steps of domestication would have
taken place in the past. Oryza nivara is generally accepted as the annual wild progenitor of Oryza sativa. However, several
different species in the past may have contributed to Oryza sativa. Several strains designated as perennial asexually Oryza
rufipogon that contained annual forms are reported to have some distinct features contributed by the cultivators of Oryza



sativa. Oryza rufipogon in Asia has both annual and perennial forms, which intercross freely with one another and with
cultivated races as well.

What is the cultivated form of rice?
(1) Oryza nivara (2) Oryza Sativa
(3) Oryza rufipogon (4) Oryza nivara and Oryza rufipogon

T (91-95)
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[Question ID = 3229][Question Description = Q91_Archaeology_SHAAN_20NOV_S1_shift2]
1 [Option ID = 12379]
2 [Option ID = 12380]
3 [Option ID = 12381]
4 [Option ID = 12382]

A W N -

2) Read the given passage and answer the question that follow:

The archaeologists normally expect the botanists to build up the model of the beginnings of agriculture. It is often difficult
to identify wild ancestors with confidence and to reconstruct the conditions under which steps of domestication would have
taken place in the past. Oryza nivara is generally accepted as the annual wild progenitor of Oryza sativa. However, several
different species in the past may have contributed to Oryza sativa. Several strains designated as perennial asexually Oryza
rufipogon that contained annual forms are reported to have some distinct features contributed by the cultivators of Oryza
sativa. Oryza rufipogon in Asia has both annual and perennial forms, which intercross freely with one another and with
cultivated races as well.

What is the mode of reproduction in Oryza rufipogon generally?
(1) Self-pollination (2) Spore formation

(3) Cross-pollination (4) Speed dispersal

T (91-95)
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[Question ID = 3230][Question Description = Q92_Archaeology_ SHAAN_20NOV_S1_shift2]
1 [Option ID = 12383]
2 [Option ID = 12384]
3 [Option ID = 12385]
4 [Option ID = 12386]
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3) Read the given passage and answer the question that follow:

The archaeologists normally expect the botanists to build up the model of the beginnings of agriculture. It is often difficult
to identify wild ancestors with confidence and to reconstruct the conditions under which steps of domestication would have
taken place in the past. Oryza nivara is generally accepted as the annual wild progenitor of Oryza sativa. However, several
different species in the past may have contributed to Oryza sativa. Several strains designated as perennial asexually Oryza
rufipogon that contained annual forms are reported to have some distinct features contributed by the cultivators of Oryza

sativa. Oryza rufipogon in Asia has both annual and perennial forms, which intercross freely with one another and with
cultivated races as well.

Which of the following is the wild variety of rice?
(1) Oryza Sativa only (2) Oryza Sativa and Oryza Nivara

(3) Oryza Sativa and Oryza rufipogon (4) Oryza nirava and Oryza

rufipogon

T (91-95)
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[Question ID = 3231][Question Description = Q93_Archaeology_ SHAAN_20NOV_S1_shift2]
1 [Option ID = 12387]
2 [Option ID = 12388]
3 [Option ID = 12389]
4 [Option ID = 12390]
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4) Read the given passage and answer the question that follow:

The archaeologists normally expect the botanists to build up the model of the beginnings of agriculture. It is often difficult
to identify wild ancestors with confidence and to reconstruct the conditions under which steps of domestication would have
taken place in the past. Oryza nivara is generally accepted as the annual wild progenitor of Oryza sativa. However, several
different species in the past may have contributed to Oryza sativa. Several strains designated as perennial asexually Oryza
rufipogon that contained annual forms are reported to have some distinct features contributed by the cultivators of Oryza

sativa. Oryza rufipogon in Asia has both annual and perennial forms, which intercross freely with one another and with
cultivated races as well.

From which of the following period beginning of cultivation of rice has been found in Asia?
(1) Mesolithic (2) Neolithic

(3) Chalcolithic (4) Harappan

T (91-95)
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[Question ID = 3232][Question Description = Q94_Archaeology_ SHAAN_20NOV_S1_shift2]
1 [Option ID = 12391]
2 [Option ID = 12392]
3 [Option ID = 12393]
4 [Option ID = 12394]
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5) Read the given passage and answer the question that follow:

The archaeologists normally expect the botanists to build up the model of the beginnings of agriculture. It is often difficult
to identify wild ancestors with confidence and to reconstruct the conditions under which steps of domestication would have
taken place in the past. Oryza nivara is generally accepted as the annual wild progenitor of Oryza sativa. However, several
different species in the past may have contributed to Oryza sativa. Several strains designated as perennial asexually Oryza
rufipogon that contained annual forms are reported to have some distinct features contributed by the cultivators of Oryza
sativa. Oryza rufipogon in Asia has both annual and perennial forms, which intercross freely with one another and with
cultivated races as well.

Who of the following scholars studied the nature of prehistoric plants?
(1) Paleontologist (2) Archaeologist

(3) Archaeobotanist (4) Archaeozoologist

T (91-95)
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[Question ID = 3233][Question Description = Q95_Archaeology_SHAAN_20NOV_S1_shift2]
1 [Option ID = 12395]
2 [Option ID = 12396]
3 [Option ID = 12397]
4 [Option ID = 12398]
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Topic:- 67ARCH_C



1) Pallava temples were mostly located around Kanchipuram and Chola Temples around Tanjore. Inscriptions indicate that
some brick temples of Pallava period was rebuilt in stone during Chola period.

Three phases of temple activity under the Cholas is cited. The siva temple of Narttamalai belongs to the early phase (850-
985 CE). This temple consists of a Vimana and Ardhamandapa. The Koranganatha belongs to the middle phase (985-1070
CE). It consists of a ardhamandapa, antrala and Vimana. The most magnificient temple of Rajarajeshvara at Tanjore belongs
to the last phase (1070-1270 CE). This temple consists of a Mukhamandapa, Ardhamandapa, Antrala and Garbhagriha.

The middle phase of Chola temples are dadicated to

(1) Brahma (2) Vishnu

(3) Shiva (4) Kartikeya

T (96-100)
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[Question ID = 3234][Question Description = Q96_Archaeology_ SHAAN_20NOV_S1_shift2]
1.1

[Option ID = 12399]
2.2

[Option ID = 12400]
3.3

[Option ID = 12401]
4. 4

[Option ID = 12402]

2) Pallava temples were mostly located around Kanchipuram and Chola Temples around Tanjore. Inscriptions indicate that
some brick temples of Pallava period was rebuilt in stone during Chola period.

Three phases of temple activity under the Cholas is cited. The siva temple of Narttamalai belongs to the early phase (850-
985 CE). This temple consists of a Vimana and Ardhamandapa. The Koranganatha belongs to the middle phase (985-1070
CE). It consists of a ardhamandapa, antrala and Vimana. The most magnificient temple of Rajarajeshvara at Tanjore belongs
to the last phase (1070-1270 CE). This temple consists of a Mukhamandapa, Ardhamandapa, Antrala and Garbhagriha.

The middle phase of Chola temple activity is dated to
(1) 1070-1270 CE  (2) 850-985 CE

(3) 985-1070 CE  (4) 650-850 CE

T (96-100)

g Tier AR - I S =9 Af 99 F 9 AR EedT 2| sfie § 77 w6 frea 2
TgA Fala % F9 221 @ [l A9fE - 95 e # GE TR § 99 90 T 9

el % wdm Afw vfafara & dm owon w0 3ga BEn W B wdmer d fm dfe wifes =
(850-985 %.) =l 7| 3@ Hfet § s fmM 30 wgHsy 21 HOWE gemEEn (985-1070 5.) =1 2| @A
HZHST, T AR UM 2| 99 § TR 9SS "ie Fatas 991 Aiet sifam e (1070-1270
<.) %1 2| 36 it § gEuey, HgHsY, Il K TR B



1ol HieT Tdtate 1 gerwaen i fqfg #=n &7

(1)  1070-1270%. (2) 850-985%.
(3)  985-1070%. (4) 650-850%.

[Question ID = 3235][Question Description = Q97_Archaeology_SHAAN_20NOV_S1_shift2]
1 [Option ID = 12403]
2 [Option ID = 12404]
3 [Option ID = 12405]
4 [Option ID = 12406]
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3) Pallava temples were mostly located around Kanchipuram and Chola Temples around Tanjore. Inscriptions indicate that
some brick temples of Pallava period was rebuilt in stone during Chola period.

Three phases of temple activity under the Cholas is cited. The siva temple of Narttamalai belongs to the early phase (850-
985 CE). This temple consists of a Vimana and Ardhamandapa. The Koranganatha belongs to the middle phase (985-1070
CE). It consists of a ardhamandapa, antrala and Vimana. The most magnificient temple of Rajarajeshvara at Tanjore belongs
to the last phase (1070-1270 CE). This temple consists of a Mukhamandapa, Ardhamandapa, Antrala and Garbhagriha.
Where was Pallava temples largely located around?

(1) Kanchipuram (2) Tanjore

(3) Madurai  (4) Tirunelveli

T (96-100)
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[Question ID = 3236][Question Description = Q98_Archaeology_SHAAN_20NOV_S1_shift2]
1. 1 [Option ID = 12407]
2. 2 [Option ID = 12408]
3. 3 [Option ID = 12409]
4. 4 [Option ID = 12410]

4) Pallava temples were mostly located around Kanchipuram and Chola Temples around Tanjore. Inscriptions indicate that
some brick temples of Pallava period was rebuilt in stone during Chola period.

Three phases of temple activity under the Cholas is cited. The siva temple of Narttamalai belongs to the early phase (850-
985 CE). This temple consists of a Vimana and Ardhamandapa. The Koranganatha belongs to the middle phase (985-1070
CE). It consists of a ardhamandapa, antrala and Vimana. The most magnificient temple of Rajarajeshvara at Tanjore belongs
to the last phase (1070-1270 CE). This temple consists of a Mukhamandapa, Ardhamandapa, Antrala and Garbhagriha.

How many phases of chola temple activity has been cited by scholars?
(1) Two (2) Four

(3) Three (4) Five

T (96-100)
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[Question ID = 3237][Question Description = Q99_Archaeology_SHAAN_20NOV_S1_shift2]
1 [Option ID = 12411]
2 [Option ID = 12412]
3 [Option ID = 12413]
4 [Option ID = 12414]
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5) Pallava temples were mostly located around Kanchipuram and Chola Temples around Tanjore. Inscriptions indicate that
some brick temples of Pallava period was rebuilt in stone during Chola period.

Three phases of temple activity under the Cholas is cited. The siva temple of Narttamalai belongs to the early phase (850-
985 CE). This temple consists of a Vimana and Ardhamandapa. The Koranganatha belongs to the middle phase (985-1070
CE). It consists of a ardhamandapa, antrala and Vimana. The most magnificient temple of Rajarajeshvara at Tanjore belongs
to the last phase (1070-1270 CE). This temple consists of a Mukhamandapa, Ardhamandapa, Antrala and Garbhagriha.

The Rajarajeshvara temple at Tanjore was build by which chola monarch?

(1) Parantaka | (2) Aditya |

(3) Raja Raja Chola (4) Rajendra Chola

T (96-100)

Ugd Higt AT ;I A =i Wi 9N & 9n AR a3 wiieiE ¥ 97 w9 e 2
A FA F FS T2 W G 4ia - =it e % G el F U S T 9

el % oA Hie TiafEy % dF W w0 Sgd R W 2| Gdwens # foa At wEfs =
(850-985 2.) =1 2| 7@ Hfer # ww famm it srgey 2| oy gomEEn (985-1070 3.) 1 2| Ed
WZHSY, I AR fAE 7| g0 A TR # Weq Afe gatas 9ea Aigt sifan wawe (1070-1270
%) @1 3| 39 Al § gEee, AguT, e AT 2

T =T ST gRT TETSYET Hiat S AT e T

(1) w=a=I (2) =zl
(3) TH TR = 4) Tz ==

[Question ID = 3239][Question Description = Q100_Archaeology_SHAAN_20NOV_S1_shift2]
. 1 [Option ID = 12419]
2 [Option ID = 12420]
3 [Option ID = 12421]
4 [Option ID = 12422]

A W N -

Topic:- GP_Set2_C
1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.



Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(C) Business Promotion

(D) People to people contacts

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (A), (C) and (D) only

(3) (B), (C) and (D) only (4) (B) and (D) only
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1.1

[Option ID = 13691]
2.2
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3.3

[Option ID = 13693]
4. 4

[Option ID = 13694]
2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -

Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela



and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B) Yoga

(C) Cricket

(D) Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :

(1) (A) only (2) (A), (B), (C) and (D) only

(3) (A) and (D) only (4) (A), (B), (D) and (E) only
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(1)  #=a (A) (2) =ad (A). (B). (C) 311 (D)

(3) %= (A) w0 (D) (4) A (A). (B) 37 (E)
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3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Which of the following is not reflective of India’s soft power status?
(1) Digital India  (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy
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4) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology

(B) Folklore

(C) Tourism

(D) Yoga

(E) Education

Choose the correct answer from the options given below :

(1) (A), (C), (D) and (E) only (2) (A), (B), (C) and (E) only

(3) (A), (B) and (E) only (4) (B), (C), (D) and (E) only
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5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down



the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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The passage highlights
(1) The emergence of India as a super power
(2) The role of culture for peace and harmonious relations with other countries
(3) India’s cultural hegemony
(4) India’s relations with BRICS countries
T 1 HEA A
(1) WA 1 TEE % =9 0 9995
(3)  =ma Fi AEHaE JEa

(4)  uTE F 5 29 o WY gy
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1. 1 [Option ID = 13707]
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3. 3 [Option ID = 13709]
4. 4 [Option ID = 13710]

Topic:- GP_Set2_A

1) Consider the following table that shows the percentage (%) diztribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.4
August 22% 4:5
September 2h% 3:2
October 8% 1.5
November 12% T:8
December 16% 7:9

freifra arform =+ 9m @ 3@ foed v faghan & g0 9=E 2019 @ fEEmsw 2019 7% 5= 0 GSh @
% famo it ufawma 9o HP #iW DELL #mf1 + @9F 1=t 1 fafn fof @t &= %1 g
Zurtr Ty 3| St st o fasia ot ol e 6 5w 45,000 (Farfem w=R) 21 @rferw § By e
STHE *F YR T T77 F T 3 :

IEEiR:upcafca =t e e R et

DELL i
JeE 17% 8:7
AT 22% 4:5
e 25% 3:2
A 3% 7:5
FarE 12% 7:8
femmm 16% 7:9

What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119 : 130

DELL 01 = g 9= 37 foamsn § 5= 73 4 Tt $i1 9o 1 w50 7 27

(1) 119: 145 (2) 116:135
(3) 119:135 (4) 119:130

[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) Consider the following table that shows the percentage (%) distribution of the number of

Personal Computers (PCs) zold by a dealer from Julyv to December-2019 and ratio between



the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% ik
October 8% W
November 12% i
December 16% e

faeAifene anfern 1 w9 © 2 fogd ush faghar & gy 9enms 2019 © faaesw 2019 @ == 7o FHsft g
% faaeor 1 ufawaar g1 HP #iR DELL =3t = a9 sty 9 fafim fofi et =% =+ smoa
FoT T 2| s et | T adt S @ i 5w @e 45,000 (Farfom wAR) 20 e @ f2o o
FTHE 5 HTHR T UTA B IS

Tt TmoreRT <R Ao - e = faar

DELL #i
EIE 17% 8:7
ST 22% 458
o 25% 3:2
A 8% T:5
EE=H 12% 7:8
famen 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

S T B HP F0 % 35% el @k gz wn s T A1 3w ade 8 HP wert # fead B s

form g2 % == e

(1) 882 (2) 1635
(3) 1638 (4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distrmbution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs




Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
Auguat 22% 4:5
September 25% d
October 8% W
November 12% il
December 16% e

faeAifene afern 1 w9 © 2 fogd sk faghar = gy 9enms 2019 ° f2asw 2019 9% == 7o Fsft g
% fagmo it wfgemar 9o HP W DELL #maf-=1 & @9+ #i=ta 1 g e @t = i #1 aqem
Fon T 7| g aradt | T adt S @ i 3w @e 45,000 (Farfom wAw) 20 e @ fro o
TS AR T UTH I D

Tt TRl = AT - T v e

DELL =i
I 17% 8:7
T 22% 4:5
faae 25% 3:2
AFZAR 8% 7:5
EE=H 12% 7:8
femm 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

SR FFE % e DELL %0 = fagear 3 weiss T @oors o 5. 433 =1 @ ww TR at 39 98

T fagran 1 e oy T ?

(1) ¥ 6.49.900 (2) ¥6.45.900
(3) £6.49.400 (4) ¥6,49.500

[Question ID = 3564][Question Description = Q03_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13719]
2. 2 [Option ID = 13720]
3. 3 [Option ID = 13721]
4. 4 [Option ID = 13722]

4) Consider the following table that shows the percentage (%) distmbution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL
July 17% 8.9
August 22% 4:5
ot T OE0. 2.9




R N R T e - e o, o, e I el
October 8% W
November 12% il
December 16% e

faeAifene afern 1 w9 © 2 fogd sk faghar = gy 9enms 2019 ° f2asw 2019 9% == 7o Fsft g
% fagmo it wfgemar 9o HP W DELL #maf-=1 & @9+ #i=ta 1 g e @t = i #1 aqem
Fon T 7| g aradt | T adt S @ i 3w @e 45,000 (Farfom wAw) 20 e @ fro o
TS AR T UTH I D

A1 TR R AT - T e

DELL i
TS 17% 8:7
T 22% 4:5
Taae 25% 3:2
T 8% T:5
AT 12% 7:8
famea 16% 7:9

The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company
HP during December?

(1) 110% (2) 140%

(3) 150% (4) 130%

e F WA H HP F01 & g s e {4 @t #i we fgaen & 98H ° HP #eEi % gen s T

(D 110% (2) 140%
(3 150% 4y 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

5) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs zo0ld of HP and DELL companies during the same six months. Total
number of PCz sold in all these six months put together iz 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8.3
Auguat 22% 4:5
September 25% d
October 8% Lk
November 12% i
December 16% 7:9




freifea aife =1 w1 ° 3@ f5aw o fha % g 99 2019 @ famrms 2019 o= 5= 0 50 o
% fagmo it wfgemar 9o HP W DELL #maf-=1 & @9+ #i=ta 1 g e @t = i #1 aqem
Fon T 7| g aradt | T adt S @ i 3w @e 45,000 (Farfom wAw) 20 e @ fro o
HATHS *F AW T 9T H IH A

ot o . al
Tt TRl = AT - T v e

DELL =i
I 17% 8:7
T 22% 4:5
faae 25% 3:2
AFZAR 8% 7:5
EE=H 12% 7:8
femm 16% 7:9

What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

3TEq e fHamse g 7eAl § DELL =001 = gET & 70 el 175t S0l Sl B 9 B 7

(1) 10000 (2) 15000

(3) 10500 (4) 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13727]
2.2

[Option ID = 13728]
3.3

[Option ID = 13729]
4. 4

[Option ID = 13730]

Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

Tava % e TR W STEEATRF HeE o 399 i HEAE "EE A6 8 7

(1) hw (2) FFEY T
(3) famefi-famam == (4) =mEE FFm =

[Question ID = 3567][Question Description = Q06_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13731]
2. 2 [Option ID = 13732]
3. 3 [Option ID = 13733]
4. 4 [Option ID = 13734]

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher



task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C) only (2) (A), (C) and (D) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only

feaferfign fafement & 9 %9 @1 =5agn war= faas 1 agw 1 27
(A) T

(B) Taeas-Fmd -yt

(C) e fafasm

(D) 9rZ-wgEar

(E) vzam

=t fou o fomei @ ° wE 3= w1 =me it

(1) =& (A), (B) 371 (C)
(2) T (A). (C) 377 (D)
(3) e (B). (C) 377 (D)
(4)  F@E (). (D) 3 (E)

[Question ID = 3568][Question Description = Q07_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13735]
2.2

[Option ID = 13736]
3.3

[Option ID = 13737]
4. 4

[Option ID = 13738]

3) Match List | with List Il gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I) Compares one student with another student

(B) Summative Evaluation (lI) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(llD), (C)-(1), (D)-(I1)  (2) (A)-(lD), (B)-(IV), (C)-(I), (D)-(I)

(3) (A)-(I1), (B)-(1), (C)-(lin), (D)-(IV)  (4) (A)-(), (B)-(I1), (C)-(IV), (D)-(ll1)

TqHt-1 % =1 geAi-11 =7 e Fifsm) 9o =t goar 1 ot agfaat &1 2, 738 5 g 55 =it
=& i 2| ge-1 vd gt 11 =1 faerm =)

%ﬁ—]: '{f:ﬁ—H
TAFA-Tg ElREEREE L
(A) T g @) e faeneff 1 gm faeneff & gemn = 2
(B) HHeHIHE Hoareh (I) w* faendf & gomr 9d fFaifE =@ @
=TT B
(C) Frm mefia gearsa (I1T) wome: wafgmm =i sfagom @ wgEn +
ECtRE
(D) == FEfdd goar (IV) wowa: fooe wifd & #offr 2q wg®
& 2|

Hre fou v famedt | 9@ wE S w1 9o Fie




(1) (A)-(IV). (B)-(III). (C)-(D). (D)~(II)
(2) (A)-(III). (B)-(IV). (C)-(ID), (D)-(I)
(3) (A)-(ID), (B)-(I). (C)-(III). (D)-(IV)
(4) (A)-(D). (B)-(ID). (C)-(IV). (D)-(III)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living.

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

I 21 A few o E

F97 (D) foram = wdt (wifaetier) 2o =1 v geya fogea & & e e asfifas F

ARt FE atfug 7w S A § Feget SfEe 2 =)

Fo (1) : foran % qafimmoETE fmm am % sEn =i gmiteE =Een f{ves =0 9 TeEitE
_F:ﬁ:l El Eof{

TN HIE * ATAF 4, A9 5T e § 9 wEr 39 w0 = i

(1) == (I) 37 (II) g1 &g 2

(2) e (I) 37 (1) 31 =30 &

(3) = (1) Ged 2, witeed = (D) #1609 2
@) A (1) A= 2, =i wee (1) 9e9 2

[Question ID = 3570][Question Description = Q09_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13743]
2. 2 [Option ID = 13744]
3. 3 [Option ID = 13745]
4. 4 [Option ID = 13746]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.

Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.
Ji= 31 e 2w F ; um wfEEET (Assertion A) % =9 # feffigd & & 3E 39% F1 (Reaszon R) =
®OH :

AR (A) e, foreh w9 wFEEAT F e wHiETCHE U TEAHE GEE H EEe
A1 B, ¥ T8 AEIA A w4 i 2

0 (R) : "HAETH’ UE A S & BHEICTE ARFE-UEE * [ W sEiad w5 2

ST wUAl * A §, e 30 T faweat ¥ O ge| 3ugs I 1 =ge i

(1) (A) #lT(R) ZAT W81 7 3T (R). (A) = @&l s 7
(2)  (A) 3 (R) FA T E, S (R). (A) FI TE =men T 2
Fay CAY TR R =t P e o 2



S b L S o T "t i L SR S, s ERRELA R DAL, LR

4)  (A) = AE B, S (R) @R

[Question ID = 3571][Question Description = Q10_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]
3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

faetfefiaa onal § # fhed BsHad =T =i SO % A TR S B 7

(1) == T-Zga-gaa (2) wraTiA g
(3)  TRTHIEE FrHAEE (4) TEARTEF FETEA

[Question ID = 3572][Question Description = Q11_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13751]
2. 2 [Option ID = 13752]
3. 3 [Option ID = 13753]
4. 4 [Option ID = 13754]

7) Identify the main features of ‘qualitative research’ from the following :

(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality

(C) Researcher becomes immersed in the situation, present or past

(D) Researcher is detached from the study to avoid bias

(E) There is greater flexibility in both the methods and research process

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only

(3) (B), (C) and (D) only (4) (C), (D) and (E) only

S % T Feme A e T A T

(A)  =E ufagrfl & qftsm § 921 % weey o geaiead B

(B)  SEH T HET WG & WHEISE 9% el TF aEqH8 J09 ¥ 9E = B

(C)  =vemsff om A1 Yoo gl 7 e w2t = )
(D)  =enefl g=E o w=a & AU o9 w9 W aemEE o o A

(E) 8% womet ua wiy-uiERa 291 § ST 2 g

Hi fau U famedi @ ® @ 3T w1 =84 it

(1) a9 (A). (C) 7R (E)
(2) =& (A). (B) 377 (C)
(3) %A (B). (C) 27 (D)

(4) == (C), (D) 3 (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4[Option ID = 13758]

8) Match List | with List Il :

List | List Il

Methods of research Features emphasized

(A) Experimental (I) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (ll) Status of facts and conditions are ascertained

(C) Descriptive  (lll) A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined



Choose the correct answer from the options given below :
(1) (A)-(), (B)-(ID), (C)-(li), (D)-(IV)  (2) (A)-(I), (B)-(I), (C)-(IV), (D)-(IlN)
(3) (A)-(lI, (B)-(IV), (C)-(I1), (D)-(I)  (4) (A)-(IV), (B)-(llI), (C)-(1), (D)-(IN)

Tfi-1 % Ty gt-11 1 foee Fifse
=11 T=-1T
oY TGl 1= A
(A) AT (I) ==fF TETr=AT T 9 54 50 THEE vl
Tgdi= |1+ FEE =6 2
(B) MM (I) ufifeataal va az # feata gHfraa i
EIG1Ed
(C) =vETEF (TIT) =8¢ =/ O U9E o8- F o0 0F =1 § 21—
e =T 2|
(D) =i (IV) fowe =1 #@9W od 7@ dfEE w9 o=

FF HHTTT T 7 2
Hi= fou o faedl | © HA IO B 999 I

(1) (A)-(D). (B)-(I). (C)-(IIT). (D)-(IV)
(2) (A)-(II). (B)-(D). (C)-(IV). (D)-(I1T)
(3 (A)-(I1II). (B)-(IV). (C)-(II). (D)-(T)
(4) (A)-(IV). (B)-(IID). (C)-(I). (D)-(IT)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13759]
2. 2 [Option ID = 13760]
3. 3 [Option ID = 13761]
4. 4 [Option ID = 13762]

9) Given below are two statements :

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il : ICT is helpful almost at all stages of research.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

da g i £ -

Fo T (D) : FFEYH H TEA-faweu UR a9 FE EH A0 CSEEaE- SR S
eyl A
Fo (1D SIEYM S T o 4 e i, e w2

IYURE YA A °, A= 5 e e 3 8 w8 35 = i

(1) = (D) 3 () 31 o3 3

(2) = (D) R (1D 34 a9 #

(3) A (1) "ex 2, @l %A (1) 59 2

(4) =9 (1) 5= 2, s =y (1) aed 2

[Question ID = 3575][Question Description = Q14_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13763]
2. 2 [Option ID = 13764]
3. 3 [Option ID = 13765]
4. 4 [Option ID = 13766]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.



Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

fr=r 3t o fom 7w € © wF wfimos (Assertion A) % 0 # fifiad 2 1 g0 35% FA0 (Reason R) %

TG

ATTFAT (A) : 5@ Tl afweTar (UHo) iR w4 I 2 Al AqEeEEal f g
(wsry) el ieme &1 w2

Fo (R) ol afte (Usp) U '@EIn uiies B 2R UE (UHh) '@e = w0

AT T =7 qfEre Eﬁ?&fh £ qffa § o1 5 2
SWIR FYA F A H, A o e fased § ° A9E 39gw 39 1 999 Fia

(1) (A) 3R (R) 2T et & 317 (R). (A) F1 7t = &

@) (A) R R)IA FWE 7, w0 (R). (A) F w6 = 6= e

(3) (AT E, A (R) 78 T =

@) (AT FE 2, @A (R) w9 R
[Question ID = 3576][Question Description = Q15_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13767]
2 [Option ID = 13768]

3 [Option ID = 13769]
4 [Option ID = 13770]

A W N -

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2) Interactional Model

(3) Non-Verbal Cues (4) Para-Language

frefafas & & % sporE @9 w1 5 g & e smm-sEee (), = (@), 7mn (3im)
S fermy (9is) =t s e &7

(1) &= e qisa (2) @A™ Tgha
(3)  sTwYHIT Thd (4) U am

[Question ID = 3577][Question Description = Q16_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13771]
2 [Option ID = 13772]
3 [Option ID = 13773]
4 [Option ID = 13774]

A W N -

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

F= =1 FHA U M ;U SHEA (Assertion A) F ¥ ¥ fofEd 2 97 gA0 39F FAW (Reason R) F
QA

HAHFIA (A) To9n # =Y § SEUTIEEE U] TeeF SH Soqed FAal ¢ (9 wiees -
(FE-=am=) F=4 F)



FI0 (R): HETHF 71 FEAUF AE F G0 S ® | ieem - A1

I FA & A 1, A4 50 T e O 9 men 3ug 3w =55 Fi

() (A) %1 (R)5F1 81 2 51 (R). (A) Fi =8t =wen 2

(2)  (A) #R (R) 5F T4 2, @A (R). (A) F 98 =men 77 2

(3) (AT R, = (R) T A 2

@) (A TFH A 2, G (R A2

[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13775]
2.2

[Option ID = 13776]
3.3

[Option ID = 13777]
4. 4

[Option ID = 13778]

13) Given below are two statements :

Statement | : Appropriate word choice is an essential of effective oral communication.

Statement Il : Facial expression and postures fall under visual communication.

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= g1 e R e

Fa7 (D) : AT AT I 7 BEER WeRl 99 HEvEE 2
Fo (I1) : Hifig W= vF S grE-wnm #F e 2|

I FUT F ATHAE °, A= 2 e GEen 4 9 "8 39w 99w fif

(1) =9 (I) 31 (II) 341 |3 2
) wwA (T) 3% (1) 241 =5 &
(3) = (1) =ea 2, = e (1) #5972

(4) = (1) 79 2, wih =ee (1) 909 &

[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4. 4 [Option ID = 13782]

14) Identify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

sreiferfaa gt § 5 wew H areret i TEE -

iAN e T o B



b s O 2 A et B 7 e
(B) Ut s

(C) == = =i Fzag =
(D) == ud = = e —ag w=

(E) o1+ &9

A= f2u v el § | HE 390 w1 =59 S

(1) &= (A) 3 (B)
(2) %= (B) #R (C)
(3) & (C) #i (D)

(4)  #Ad (D) @R (E)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13783]
2.2

[Option ID = 13784]
3.3

[Option ID = 13785]
4. 4

[Option ID = 13786]

15) Match List | with List Il :

List | List Il

Types of Communication Main features

(A) Downward Communication () Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (ll) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(11), (C)-(1V), (D)-(lI)  (2) (A)-(11), (B)-(1), (C)-(lD), (D)-(1V)

(3) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)  (4) (A)-(IV), (B)-(ll1), (C)-(I1), (D)-(1)

-1 = = -1 =1 foem Fifom
I 11
HE o TR e fasman
(A)  FrTE EE (I) HE % @3EA H "N R ATEYART
W1 A o THET | e 2
(B) Suferet wem (I) +E-TH=" ®d FoE o4 ° us IeEnt
T FATET
(C) #fas T (III) =9 fawal va awene i afagE & @y
HEfead F &
(D) T9-=Ts TEEy (IV) TRt ofi deen =1 4 @d-"EET GO

4= feu 0 9T § O T I @ =999 Hiran

1) (A-D. (B)-(D. (C)-(IV), (D)-(I1I)
(2)  (A)-AD. (B)-(D). (C)-(IID). (D)-(IV)
(3)  (A)-AID, (B)-AV). (C)-T). (D)-(1I)
4 (A)-AV). (B)-(III). (C)-(ID). (D)-(D)

[Question ID = 3581][Question Description = Q20_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]



4. 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

afe smea, fasmea 1 25% 3 6 @ i feerd 3 27

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13791]
2. 2 [Option ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs. 20/kg, with 30 kg of different variety rice of a price of Rs. 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

s fagear 26 el 9w %, 20/fF & 2 W wiis F 30 g TR W 30 fRe =Ee faen gm @ S
354 %, 36 /Fe1 % 7 W wlEr o1 ok 5@ ven fafim gu wmEe w30/ % 3w sEa 2 I |
=i wferzraan == 7 7

(1) 5% (2y  10%

(3) 15% (4 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797]
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs. X per litre and sells it at Rs. 2X per litre. Still he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133.33 (4) 166.66

wF Fu-fosed 7. X/ % | W 39 wiE 9 5. 20X/ F | W AEar 2| qeeg 36 98 2 wiet

T 6 Fied TG 39 H faen 41 7| 36w @rd i ufewraan w27

(1) 33.33 (2) 66.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]
4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs. 5,050/-. The average montly income of Q and R is Rs. 6,250/- and that
of P and R is Rs. 5,200. What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs. 4,500/-

P 3R Q i sitea @1 w1™ 5050 ¥ &, Q ¥ R =1 sitaq 7w 5™ 6250 w99 991 P 3 R i

STrEd ATfEF A 5200 %94 7| P 61 A1fdm 37 faadi 5 7

(1)  3.000/- =7 (2) 3,500/- 797

(3) 4.000/- =19 (4) 4,500/- 5

[Question ID = 3585][Question Description = Q24_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13803]



2. 2 [Option ID = 13804]
3. 3 [Option ID = 13805]
4. 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3) 25 (4) 30

4 TEATA F 3ET 20 & A7 IEe HEA W9 3 Gl & 90 #0113 &) Ugell S F AW = 8 Y

(1) 15 (2) 20

(3 25 (4 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13807]
2 [Option ID = 13808]
3 [Option ID = 13809]
4 [Option ID = 13810]

A WN -

21 ; § : ; ; :
) According to Naiwvayvikas we ascertain the relation of umiversal concomitance between x

and v :

(A) We can determine the relation only if we can determine the relation of essential
identity between x and v

(B) By perceiving that in all cases the presence of x 1s accompanied by the presence of y

(C) We can determine the relation only if we can determine the relation of cause and
effect between x and v

(D) By not perceiving any instance where the presence of x is not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (D) and (C) only
(3) (B) and (D) only
(4) (A). (B) and (C) only

JEAEF F AR B x S0 y § AEEEE T F w5 gEeed w0 2

(A)  x 3Ry F A9 AEE TEEE A THEEFA TR GETEd 5H W A 5 T H 9 W
o |

(B)  wi uftfeaten 9 x Fi mfeata * v y $1 ufat w1 wqaa #1531 g w71

(C) 78 ==y 1 a4 gifvaa = 5% 7 79 59 x 91 y F S FE w0 gy geiead w7 A |

D)  x % sufyla & @ma y F s @y £ soieafa F @y o Foageiata = R 5 e .

I T FH|
4 15U U faedl B W HE I 55 i

(1)  F=9 (A) 3 (O)

(2)  Faw (D) 3 (C)

(3)  #= (B) AR (D)

4)  Fa(A). (B) 7R (C)
[Question ID = 3587][Question Description = Q26_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13811]

2. 2 [Option ID = 13812]
3. 3 [Option ID = 13813]



4. 4 [Option ID = 13814]

22) Mfatch List I with List II :

ListI

(A)  Vyapti

(B) Linga

(C) Sadhya

(D) Paksa

List IT
(I)  The property being inferred
(IT) Locus of hetu and Sadhya
(III) Sign or reason

(IV) Universzal concomitance

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-0). (B)-(I1I). (C)-AI). (D)-(IV)
(A)-(I1), (B)-(III). (C)-(I), (D)-(IV)
(A)-(AV), (B)-(III). (C)-(T), (D)-(II)
(A)-(ID). (B)-(I). (C)-(IV), (D)-I)

FHt-1 & =1y g=-11 =1 faem i

(A)

(B)

(C)

(D)

=1
=

HTEH

R

I f2u 7o e § W/ wE 39w 9 S

(1)
(2)
(3)
(4)

(A)-(I). (B)-(IID). (C)-(IT). (D)-(IV)
(A)-(II), (B)-(ITI), (C)-(T). (D)-(IV)
(A)-(IV). (B)-(ITT). (C)-(T). (D)-(II)
(A)-(IIT). (B)-(I). (C)-(IV). (D)-(ID)

FA-11
()  Toad =1 ATEA
(II) =4 =1 =@ =
(III) =oa wA9=1 FE0

(IV) =Estias wemaa

[Question ID = 3588][Question Description = Q27_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]
3. 3 [Option ID = 13817]
4. 4 [Option ID = 13818]

23) Given below are two statements :

Statement I :

Statement IT :

According to Claszsical Indian Logic the fallacies (hetvabhaza) are not

errors of inference, but rather hindrances to inference.

A fallacy 1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arising.

In the light of the above statements. Choose the correct answer from the options given

below :

(1)

Both Statement I and Statement II are true.



(2) Both Statement I and Statement IT are falze.
(3) Statement I 1s true but Statement II 1= false.

(4) Statement I 1s false but Statement II is true.

Hi 21 =y fou e # -

F9A (1) : TRATE o7 G = ATAN o9 FIAH 1 2 T8l S a9 2
w9 (1D FOATHTH A5gd: ATTE HAO AT B 7 A AW SATHSE 7 A a AGEE w5

=i Feat = FHEw = B

ST FYE T A 1, 49 5 e 9 8 w6 I w == fif

(1) = (1) = (1) 31 7 2

(2) = (1) 3R A1) 31 wrae &

(3)  =ua (1) Ged 2, wiferd =9 (II) H8ed 2
(4) = (1) s\ 7, A Fee (1) 73 B

[Question ID = 3589][Question Description = Q28_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13819]
2 [Option ID = 13820]
3 [Option ID = 13821]
4 [Option ID = 13822]

A wN =

24) ‘‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ““No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) ““Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) “‘Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

“Herd: B THATEE HUTS UH GH § W A9 waaerdl %1 aiid T8l i 81”7 Aifeiad e § ¥ %
o1 FYH I g2 ° el 27

(1) = ff go: FEAEE TES UH A TR 2 S At Sl H e Wl 3 9 T weE
1 77 Ufaatds @ & 3117 91+ ¥4 9 79907 o

(2) F% ff Ioiq: TEAEE A A TS 6l 2 SS9t tadedl S oaiad i 2| 2T T wee
=1 717 ufaafds amm 2 i aifFs =0 9 smmges )

(3) F3 goa: OUAEE 99 UH 9O 2 S FafEE e wida w9 3 fam o wem = gw afiwe
99 & 3 a1 =9 O g9H 2|
i J19 7 2R i ¥9 H THgeA 2|

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1 [Option ID = 13823]
2 [Option ID = 13824]
3 [Option ID = 13825]
4 [Option ID = 13826]

AW N =

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

oy o . PR mn



a1 JIAIHAT =AHTE 7 AlE

(1) =, gat 7 Uy w3 71 T 16 2

(2)  3FR, SFl GeF B Al & Sl aF1 F5cd J8 7wl

(3) 37T 3T Sev AR fadw ue fiym E, v o o7 amn ot sem 2

(4) oW ITF 3299 SR 999 99F # o 3 Fad g B 91 i E vy o g afe #)
[Question ID = 3591][Question Description = Q30_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13827]
2. 2 [Option ID = 13828]

3. 3 [Option ID = 13829]
4. 4 [Option ID = 13830]

26) What is the binary equivalent of the decimal number 67.625?
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

=SS BEAT 67.625 =1 fgamert ouges #4127

(1) 1000010 . 110 (2) 1000011 .110

(3) 1000010 . 101 (4) 1000011.101
[Question ID = 3592][Question Description = Q31_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13831]
2.2

[Option ID = 13832]
3.3

[Option ID = 13833]
4. 4

[Option ID = 13834]

27) Identify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time.
(A) RAM
(B) Optical Drive
(C) CPU Cache
(D) SSD
Choose the correct answer from the options given below :
(1) (B), (D), (A), (C) (2) (C), (D), (A), (B)
(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)
UFEE 7I5H H A H TEd 50 Hed o9 ° "eE 916, T % o % 50 T FE § ¥ Hel w5 6 TEeE
i
(A i
(B) A== 3159
(Cy g, W=
(D) TH.EEEL

I fau 0 fa=wedi § ® 991 39 F1 =999 Fia0

(1)  (B). (D). (A). (C)
(2) (C). (D). (A), (B)
(3) (A (B).(©C). (D)
(4) (). (A), (D). (B)

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837]
4. 4 [Option ID = 13838]

28) Given below are two statements :



Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’.

Statement Il : The abbreviation ‘SWAYAM’ stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 31 Fom fag e #

94 (D) : 1.3 11, # adem & - 8ffa e e FEa
Fo (1) : UH 257 U AE 00, 1 HAels & - el A9 W Ufded-oli B A Ui
ATE5H

IWE HUE * AT °, A9 3 e 5 9 wEt 39 w5 = i

(1) = (@) 3R 1) 2 7 7
(2) = (D) 3 (D) g1 @rEe #

(3)  wwA (I) | 2, =it & (1) /@ 2

(4) = (I) w8 2, = =9 (1) 903 2

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840]
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B) On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

feAfetfias § # ®A-1 § ®U AT Ha H ee w@ A, Fi g § aestag 27
(A) AT ZEES TF TR
(B) HH-w29 YA

(C) @wgul 291 § swad Fafheaehia fore

e fow U TerkeTl | | "E IO 1 9 it

(1)  (A), (B) 3 (C)
(2)  =ad (A) 3T (C)
(3)  @Ad (B) #1 (C)

(4)  FAE (A) #0(B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4. 4 [Option ID = 13846]



30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(A) HTML (1) Semantic Web

(B) Web 2.0 (Il) Use of Internet to make phone calls

(C) Web 3.0 (lll) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(1n), (B)-(IV), (C)-(1), (D)-(11)  (2) (A)-(111), (B)-(I), (C)-(1V), (D)-(11)
(3) (A)-(I1), (B)-(IV), (C)-(1), (D)-(lI)  (4) (A)-(IV), (B)-(ll1), (C)-(1), (D)-(11)

-1 % =y g1 =1 o= i

g1 =11

T 13 T
(A) T THEA (I) =l 39
(B) 3% 2.0 (IT) 5 Fe" T4 5 0 ez 71 5am
(C) == 3.0 (III) =8 91 1 5919  feqw 7T 7 7% S
(D) =itz . (IV) =reAdiiza 5=

e fou 7Tu feekeml | | =E IO 1 9 it

(1) (A)-(TID). (B)-(IV). (C)~(I), (D)~(IT)
(2)  (A)-ID. (B)-D). (C)-AV), D)-(ID)
(3)  (A)-(II). (B)-(IV). (C)-(I). (D)-(IIT)
(4) (A)-(IV). (B)-(III). (C)-(I), (D)-(II)

[Question ID = 3596][Question Description = Q35_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13847]
2. 2 [Option ID = 13848]
3. 3 [Option ID = 13849]
4. 4 [Option ID = 13850]

31) Given below are two statements :

Statement | : Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person.
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

i =1 =ye far e # -

w97 (D) : et TgEw w1 ufaFe ae =tE i ogEn-mth F my-mg gAas e w ot
TSl &l
FoH (1D : WA AR, @AfH-Ta & wwg | a2

IWIF T FATAT °, = &3 0 FEeT § | "l 39 W 99 e

(1) = (1) 31 (1) 21 &% &

(2) = (1) 3 (1) 31 3799 2

(3) =9 () uc9 2, wifed w94 (10 5197 2

(4) = (1) s5e 2, wifFa wae (1D 77 2

[Question ID = 3597][Question Description = Q36_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]



2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

feAfeiEa & @ %4 @ 29 30 9 A f auar aet fGva % ged 93 di-ag-Sa-3mE i TeET

Tz § Tem 27

o

(1) = (2) 4ra
(3) A=A (4) w7

[Question ID = 3598][Question Description = Q37_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858]

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

fra 3t Fum fam e F  oF wfeEeT (Assertion A) F w1 H fAfad 2 9 70 39F F01 (Reason R) F

e (A) HemlA T we (v S ) e 2 v T A
F (R) : F= TH.I1H. waEEg A

IUERE HAl % e o, = o e faeat @ @ wew uges 3w o = i

(1)  (A) 3R (R) 2H1 Wé & 3 (R). (A) #i #E =me 2

) (&) #R (R)FF T E, @A R), (A) F 7@ = =" 2

(3) (AT &, A (R) WA 76 v

@) (AT A R, A (R) =R

[Question ID = 3599][Question Description = Q38_GP_20NOV_S2_SHAAN_Shift2]
1.1

[Option ID = 13859]
2.2

[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment.

Reason (R) : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.



= F'T ET:E| 1%'1" i ﬁ B A9FA (Assertion A) F %9 § [@mEd # a TET 3G F RO (Reason R) 2

=Y ;
HATFIT (A) AT 317 T F T § ToRE R A mifeafas-aa B e ff s
% e O i EX
GAE =TT H 9EAEd =B 15487 & |
FET (R): Al F TAE H 7 TR 3 aiEee e 2

ST FA F AT °, F (50 T e 8§ WE 39 6 =6 I

(1) (A) ¥R (R)FA 74 F 3R R), (A) F 77 =men 2

(2) (&) ¥R (R) TH 74 7, A (R). (A) F 7 = 4

(3)  (A)yFe 7, @l (R) B8 o580 2

@) (A ¥m= FE 2, | (R) T3 7

[Question ID = 3600][Question Description = Q39_GP_20NOV_S2_SHAAN_Shift2]

1.1

[Option ID = 13863]
2.2

[Option ID = 13864]
3.3

[Option ID = 13865]
4. 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) - 57% (2) - 42%
(3) ~37% (4) ~ 28%

AT i T e | W g i mEEE E

(1) ~57% (2) ~42%
(3)  ~37% (4) ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867]
2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

feafefas § 9 @1 §o9 791 T § H948 ¥9 § dvdta 8g gatda oo w e

(1)  wohe HiEFHaH ged (2) =% HEFOH g9
(3)  aEtE (4)  BTeH-=Himgal
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37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System



(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors
ot = &t v\, = gee E -

(1)  =aTeE ST g2 iy (2)  ==TEE §EE wiss ey
(3)  HeZel 9IS HTE HiSS ThiE (4) wHise 9IS HE Uegel TI-HH
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38) COVID-19 acronym stands for
(1) Corona Virus Disease 2019
(2) Corona Virus Disease strain 19
(3) Corona Virus Disaster 2019

(4) Corona Virus Disease 2020

FifaTE-19 =1 gaee 2 -

(1) =T arstE Sie 317 2019

(2) T AT S =2 19

(3) FHAET aT7H {5t 317 2019

(4) = anEtE TS W% 2020
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39) NITI Aayog is

(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Fifa (NITL) =340 =1 Ao 2 -
(1) v s=ege Bz sfea

(3) I eI AT A AT
(4) TS TETIE AT ZEEEIE & e
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40) Match List | with List Il :
List I Listll

(Days Celebrated) (When)
(A) Earth Day (I) 24 January



(B) UNO Day (Il) 5th June

(C) Environment Day  (lll) 24th October

(D) International Day of Education (IV) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1), (C)-(1), (D)-(IV)  (2) (A)-(IV), (B)-(lI), (C)-(1), (D)-(IN)

(3) (A)-(I1), (B)-(IV), (C)-(I), (D)-(lI)  (4) (A)-(IV), (B)-(ll1), (C)-(IN), (D)-(1)
THt-1 % =y g=-11 =1 faem i

AT T 11
fe=a feredt
(A) g=fi-fgam (O 24 =
(B) @gw g §d fgam I s
(C) w=E-famm (ITT) 24 HFw
(D) s fen IV) 22 s

= fou o fameul | © wE 3 1 =99 hifaw

1 A)-D. (B)-ID). (C)-aD). D)-(IV)

2 @A)-av). B)-I1D, (C)-D). D)-ID)

(3)  (A)-aD. (B)-(IV). (C)-(I), (D)-(1IT)

@ AQ-av). (B)-l). (C)-ID). (D)-@)
[Question ID = 3606][Question Description = Q45_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]

3. 3 [Option ID = 13889]
4. 4 [Option ID = 13890]






